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Section : General Awareness
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Section : Arithmetic Ability
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Section : General English

@1 Select the synonym of the given word. Question ID : 16794312766

SAVAGE
Ans 3 1. humane

& 2. urban




X 3. civilised
o 4 barbarian

Q.2 Select the most appropriate option to fill in the blank.

The staff meeting is to be held the Principal’s office at 3 pm.
A of 1 in
& 2. on
X 3 at
X 4 into

Question ID : 16794312759

Q3 Select the most appropriate option to fill in the blank.

I have an with the doctor at 6 pm.
Ans 3¢ 1. agreement
/& 2. engagement
/< 3. arrangement

« 4 appointment

Question ID : 16794312764

Q.4 Select the most appropriate option to fill in the blank,

The mist was so thick at the Coaker’s Walk in Kodaikanal. that it was like walking the clouds.
Ans X 1. under

« 2. through
X 3. over
/< 4 along

Question ID : 16794312760

Q5 Select the ANTONYM of the given word.

SINCERE
Ans X 1. serious
/< 2. genuine
o 3 false
& 4 natural

Question ID : 16794312768

Q‘6 In the following sentence, four words/phrases have been underfined. One of them is mcorrect, Choose the INCORRECT
wordphrase from the given options,

Alot of companies spend millicns of mpees for a short advertisement between a cricket match in India.

Ans 1. for
X 2 spend
o 3. between
X 4 Alotof

Question ID : 16794312773
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Arrange the parts of the sentence in meaningful and grammatically correct order.
A. Invented the ice stupa that helps create

B. Ladakhi engineer and innovator Sonam Wankgchuk

C. An artificial glacier

D. Storing water in winter
E. For the purpose of

Ans o 1. BACED
X 2. BAEDC
X 3. CEDAB
X 4 CABED

0.8 In the following sentence, four words/phrases have been underfined. One of them is mcorrect, Choose the INCORRECT
word-phrase from the given options,

She glimbed oyt of the swimming pool and dried mysslf with 2 tows].
Ans o 1 myself

# 2. climbed out

< 3. with a towel

X 4 dried

Question ID : 16794312772

Q.9 Select the most appropriate option to fill in the blank.
This ticketwill  youto take any ride in the park and visit any section that you like.
Ans  of 1 enable
< 2. determine
/< 3. approve
/< 4. accept

Question ID : 16794312765

Q.10 Select the most appropriate option to fill in the blank.

I managed to finish my work all the disturbance created by children all around.

Ans X 1. because of
/< 2. although

W 2 in spite of

& 4 in case

Question ID : 16794312763

Q11 Select the sentence structure that is grammatically correct.

Ans &1

Twenty feet tall the fully grown the dragon tree is about and five feet across.

X 2

Twenty feet tall and five feet across the fully grown dragon tree is about.

X 3

Twenty feet tall and five feet across is about the fully grown dragon tree.

v 2

The fully grown dragon tree is about twenty feet tall and five feet across.

Question ID : 16794312770

Q12 gelect the synonym of the given word.

MOTLEY
Ans X 1. plain

Question ID : 16794312767




o 2 diverse
/< 3. similar
/< 4 uniform

Q13 Select the ANTONYM of the given word.

STRIVE

Ans o 1. attempt
W 2 rest
< 3. fight
< 4 labour

Question ID : 16794312769

Q.14 Select the most appropriate option to fill in the blank.

The number of immigrants steadily during the past few years.

Ans 1. was increasing

& 2 increased
« 3 has increased
& 4 will have increased

Question ID : 16794312761

Q.15 Select the most appropriate option to fill in the blank.

Do vou still live in Anupam Aparments, have you moved?

Ans X 1. but
W 2 or
X 3 so0
X 4 and

Question ID : 16794312762

Comprehension:

Read the following passage and answer the questions given after it.

At a time when quality of Indian medicines is being questioned, a

WHO agency has found that only 2% of the medical products in

Southeast Asia, including India, were substandard or spurious against

a global figure of 10.5%.

Effectively, it means medicines and medical products available in

India are safer than what is available in American and European

markets.

Nearly 10.5% of the samples collected by WHO’s Global

Surveillance and Monitoring System for substandard and falsified
medical products (GSMS) between 2013-17 failed quality test, says
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as those that misrepresent identity, composition or source.

In the past spotlight has largely been on lifestyle medicines such as
slimming tablets, the WHO findings show that everything — from
cancer medicines to contraception, antibiotics to vaccines — faces a

quality problem across the world.

Substandard drugs and vaccines up the risk of several diseases
becoming difficult to treat and the world left grappling with

antimicrobial resistance, which is a growing concern.

“There is clear evidence that resistance to the most important anti-
malarial medicine, artemisinin, first appeared in a part of the world
where at one point between 38 and 90% of the artemisinin medicines

on the market were substandard or falsified,” says the report.

Nearly 1,500 cases from across the world, including India, were
reported to the surveillance team. The magnitude of the problem

could be bigger as not all countries reported cases.

The growing global trade in medicines has also opened door to drugs,
vaccines and other medical products that do not meet quality

standards and are even toxic at times.

Online pharmacies that are fast gaining popularity — in the US alone
19 to 26 million people now buy medicines online — also pose a
threat, as it makes it easier to push poor quality drugs into even the
best regulated markets.

The pharma sector is doing its bit to ensure safety from fakes.

“Some of the security features we have introduced for our products
include bar coding for track and trace, hologram and tamper-proof
plastic trays with locking system for pre-filled syringe products,” said
Dr Krishna Ella, CMD, Bharat Biotech.

Bar coding and hologram would also help check spurious drugs.

Launched in 2013 by the WHO, the Global Surveillance and
Monitoring System aims to improve the quality of medical products

and aid in member countries.




SubQuestion No: 16

Qé‘ What is the aim of the WHO's Global

Question ID : 16794312776

Surveillance and Monitoring System?

Ans  of 1.

To improve the quality of medical products and
aid in member countries.

x 2 To survey the availability of medicines in its
member countries.

X3 To regulate the market prices of drugs in its
member countries.

X 4 To check the supply of spurious drugs in its
member countries.

Comprehension:
Read the following passage and answer the questions given after it.

At a time when quality of Indian medicines is being questioned, a
WHO agency has found that only 2% of the medical products in
Southeast Asia, including India, were substandard or spurious against
a global figure of 10.5%.

Effectively, it means medicines and medical products available in
India are safer than what is available in American and European

markets.

Nearly 10.5% of the samples collected by WHO’s Global
Surveillance and Monitoring System for substandard and falsified
medical products (GSMS) between 2013-17 failed quality test, says
the report released on Tuesday. It defines falsified medical products

as those that misrepresent identity, composition or source.

In the past spotlight has largely been on lifestyle medicines such as
slimming tablets, the WHO findings show that everything — from
cancer medicines to contraception, antibiotics to vaccines — faces a

quality problem across the world.

Substandard drugs and vaccines up the risk of several diseases
becoming difficult to treat and the world left grappling with

antimicrobial resistance, which is a growing concern.

“There is clear evidence that resistance to the most important anti-

malarial medicine, artemisinin, first appeared in a part of the world




where at one point between 38 and 90% of the artemisinin medicines
on the market were substandard or falsified,” says the report.

Nearly 1,500 cases from across the world, including India, were
reported to the surveillance team. The magnitude of the problem

could be bigger as not all countries reported cases.

The growing global trade in medicines has also opened door to drugs,
vaccines and other medical products that do not meet quality

standards and are even toxic at times.

Online pharmacies that are fast gaining popularity — in the US alone
19 to 26 million people now buy medicines online — also pose a
threat, as it makes it easier to push poor quality drugs into even the
best regulated markets.

The pharma sector is doing its bit to ensure safety from fakes.

“Some of the security features we have introduced for our products
include bar coding for track and trace, hologram and tamper-proof
plastic trays with locking system for pre-filled syringe products,” said
Dr Krishna Ella, CMD, Bharat Biotech.

Bar coding and hologram would also help check spurious drugs.

Launched in 2013 by the WHO, the Global Surveillance and
Monitoring System aims to improve the quality of medical products

and aid in member countries.

SubQuestion No : 17

Q1 What are the findings of the WHO’s Global Question ID : 16704312775

Surveillance and Monitoring System regarding
Indian drugs?
Ans J 1.

Indian medicines are safer than the medicines in
US or Europe.

X 2
The quality of Indian medicines is questionable.
> 3.
10.5% of the samples of drugs failed the quality
tests.

> a4




10% of the Indian medicines were spurious or
substandard.

Comprehension:
Read the following passage and answer the questions given after it.

At a time when quality of Indian medicines is being questioned, a
WHO agency has found that only 2% of the medical products in
Southeast Asia, including India, were substandard or spurious against

a global figure of 10.5%.

Effectively, it means medicines and medical products available in
India are safer than what is available in American and European

markets.

Nearly 10.5% of the samples collected by WHO’s Global
Surveillance and Monitoring System for substandard and falsified
medical products (GSMS) between 2013-17 failed quality test, says
the report released on Tuesday. It defines falsified medical products

as those that misrepresent identity, composition or source.

In the past spotlight has largely been on lifestyle medicines such as
slimming tablets, the WHO findings show that everything — from
cancer medicines to contraception, antibiotics to vaccines — faces a

quality problem across the world.

Substandard drugs and vaccines up the risk of several diseases
becoming difficult to treat and the world left grappling with

antimicrobial resistance, which is a growing concern.

“There is clear evidence that resistance to the most important anti-
malarial medicine, artemisinin, first appeared in a part of the world
where at one point between 38 and 90% of the artemisinin medicines

on the market were substandard or falsified,” says the report.

Nearly 1,500 cases from across the world, including India, were
reported to the surveillance team. The magnitude of the problem

could be bigger as not all countries reported cases.

The growing global trade in medicines has also opened door to drugs,
vaccines and other medical products that do not meet quality

standards and are even toxic at times.




Online pharmacies that are fast gaining popularity — in the US alone
19 to 26 million people now buy medicines online — also pose a
threat, as it makes it easier to push poor quality drugs into even the
best regulated markets.

The pharma sector is doing its bit to ensure safety from fakes.

“Some of the security features we have introduced for our products
include bar coding for track and trace, hologram and tamper-proof
plastic trays with locking system for pre-filled syringe products,” said
Dr Krishna Ella, CMD, Bharat Biotech.

Bar coding and hologram would also help check spurious drugs.

Launched in 2013 by the WHO, the Global Surveillance and
Monitoring System aims to improve the quality of medical products

and aid in member countries.

SubQuestion No : 18

Qé1 What has aggraﬁFat?d the problem of fake and Question ID : 16794312778
substandard drugs in the market?

Ans o 1. Growing global trade and online pharmacies
/< 2. Growing global trade and use of holograms

/< 3. Use of holograms and bar coding system

< 4

Use of bar coding system and online pharmacies

Comprehension:
Read the following passage and answer the questions given after it.

At a time when quality of Indian medicines is being questioned, a
WHO agency has found that only 2% of the medical products in
Southeast Asia, including India, were substandard or spurious against
a global figure of 10.5%.

Effectively, it means medicines and medical products available in
India are safer than what is available in American and European

markets.

Nearly 10.5% of the samples collected by WHO’s Global
Surveillance and Monitoring Svystem for substandard and falsified




medical products (GSMS) between 2013-17 failed quality test, says
the report released on Tuesday. It defines falsified medical products

as those that misrepresent identity, composition or source.

In the past spotlight has largely been on lifestyle medicines such as
slimming tablets, the WHO findings show that everything — from
cancer medicines to contraception, antibiotics to vaccines — faces a

quality problem across the world.

Substandard drugs and vaccines up the risk of several diseases
becoming difficult to treat and the world left grappling with

antimicrobial resistance, which is a growing concern.

“There is clear evidence that resistance to the most important anti-
malarial medicine, artemisinin, first appeared in a part of the world
where at one point between 38 and 90% of the artemisinin medicines

on the market were substandard or falsified.” says the report.

Nearly 1,500 cases from across the world, including India, were
reported to the surveillance team. The magnitude of the problem
could be bigger as not all countries reported cases.

The growing global trade in medicines has also opened door to drugs.
vaccines and other medical products that do not meet quality

standards and are even toxic at times.

Online pharmacies that are fast gaining popularity — in the US alone
19 to 26 million people now buy medicines online — also pose a
threat, as it makes it easier to push poor quality drugs into even the
best regulated markets.

The pharma sector is doing its bit to ensure safety from fakes.

“Some of the security features we have introduced for our products
include bar coding for track and trace, hologram and tamper-proof
plastic trays with locking system for pre-filled syringe products,” said
Dr Krishna Ella, CMD, Bharat Biotech.

Bar coding and hologram would also help check spurious drugs.

Launched in 2013 by the WHO, the Global Surveillance and
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and aid in member countries.

SubQuestion No : 19

.1 " B .
Qg Whlch of the following are termed as life style Question ID : 16794312779
medicines?

Ans 3 1. Antibiotics
W 2. Slimming tablets
X 3. Cancer medicines

/< 4 Anti-malarial medicines

Comprehension:
Read the following passage and answer the questions given after it.

At a time when quality of Indian medicines is being questioned, a
WHO agency has found that only 2% of the medical products in
Southeast Asia, including India, were substandard or spurious against
a global figure of 10.5%.

Effectively, it means medicines and medical products available in
India are safer than what is available in American and European

markets.

Nearly 10.5% of the samples collected by WHO’s Global
Surveillance and Monitoring System for substandard and falsified
medical products (GSMS) between 2013-17 failed quality test, says
the report released on Tuesday. It defines falsified medical products

as those that misrepresent identity, composition or source.

In the past spotlight has largely been on lifestyle medicines such as
slimming tablets, the WHO findings show that everything — from
cancer medicines to contraception, antibiotics to vaccines — faces a

quality problem across the world.

Substandard drugs and vaccines up the risk of several diseases
becoming difficult to treat and the world left grappling with

antimicrobial resistance, which is a growing concern.

“There is clear evidence that resistance to the most important anti-
malarial medicine, artemisinin, first appeared in a part of the world
where at one point between 38 and 90% of the artemisinin medicines
on the market were substandard or falsified,” says the report.




Nearly 1,500 cases from across the world, including India, were
reported to the surveillance team. The magnitude of the problem
could be bigger as not all countries reported cases.

The growing global trade in medicines has also opened door to drugs,
vaccines and other medical products that do not meet quality

standards and are even toxic at times.

Online pharmacies that are fast gaining popularity — in the US alone
19 to 26 million people now buy medicines online — also pose a
threat, as it makes it easier to push poor quality drugs into even the
best regulated markets.

The pharma sector is doing its bit to ensure safety from fakes.

“Some of the security features we have introduced for our products
include bar coding for track and trace, hologram and tamper-proof
plastic trays with locking system for pre-filled syringe products,” said
Dr Krishna Ella, CMD, Bharat Biotech.

Bar coding and hologram would also help check spurious drugs.

Launched in 2013 by the WHO, the Global Surveillance and
Monitoring System aims to improve the quality of medical products

and aid in member countries.

SubQuestion No : 20

2 i i
Qo The pharma sector is taking a number of measures Question ID : 16794312777

to check the spurious and fake drugs. Which of the
following is NOT such a measure according to the
passage?
Ans 1.

Tamper (Tamper)-proof plastic trays for prefilled
syringes

/< 2. Bar coding

7< 3. Holograms (Hologramas)

o Locking (Locking) system for capsules and
tablets
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Question ID

16794312794

Q2

AT T F Tl Ty swea §72
vimgTo
Xogad
KadeEeT
X4 o HE.

Question ID

116794312781

Q3

TeTeSEAT e H T &
v =
< 2. FOT
Xs.ﬁm‘;
}(4.3@1‘&5

Question ID

16794312785

Q4

HYE AT HIA-HT g7
X1 e

v FwRTE

X 3 gele

X o T

Question ID

16794312782

Q5

T 9eg H 98T ¢
XLéa;
K2 H
v gF
K43

Question ID

16794312791

Q.6

F&T T TITIETET 2AeE AL &

X e
X2 a%
o FAT

X4 gH

Question ID

16794312789

Q7

‘H HEWRT 74T 9T I TFT FIA-H FIA F 7

Question ID

16794312783




X . WHT §d
v A
X o 30T o7
X o e 8

Q8

Ans

T=ofe # ¥ T57 o Fa-a 2
X 1. fofar
< 2. 3T
K sogar
o 4 T

Question ID : 16794312793

Q.9

HY R/ R Feer 1 9
v FdEET

X 2 FoaT=T

X3 P
X 4 T

Question ID : 16794312795

Q.10

FH A WA TNE & Al T F R 9
X"

X 2 \TATA

W 2 BERT

X 4 w2l

Question ID : 16794312796

QM

'TTTHAA eC H HI-TT IIHT 20 22
X1g
K2 9r
X 3 qfr
v g

Question ID : 16794312790

Q.12

Ans

PIA-TT T T8 g7
X1.;:|:3'

K2 =g

o 3 S=OT

& 4 \TAETA

Question ID : 16794312792

Q.13

FIA-H T 7 T 3T JOT g7

Question ID : 16794312780




X1..IJ3¢T
v dT®
Kagad
X4eTaTHA

Q.14

TS #1gT F ST HF SH I F 6T UF e g
X 1. O™
v o FEeE
K 3 HET
X o sgE

Question ID : 16794312787

Q.15

‘arefte @ e s A afw g A o sron B T A A wsTmE awgw sl

X o e I H
X 2 3=ty

X3 ga H N 3= B
v gfes

Question ID : 16794312799

Q.16

oo SAT F HY H GIFT g FTenm JEE
XK. % H SH T

X 2 FET T e

o 3. AR FeaT

X 4 ATHR TEAT

Question ID : 16794312797

Q.17

‘TOES U= H HIE &
PSR s

X 2 gFeE

v 3 g

X 4 dod®y

Question ID : 16794312786

Q.18

‘G & FTe T T AT SAIaT F AT §
X m & A T e 74 g
X 2 @I & IER e T &

X 3 oefr & 3TEAT J 3EaT §
v

S S gy & e ¥ I8 USRS

Question ID : 16794312798

Q.19




T S T [EASH Fr gEm?
As o 1. 3l

< 2 e

X3 wfEg

X 4 FFIET

Question ID : 16794312788

O g ereg TR F gy g ¥?
Ans X' 1. g

v 7 S

X 5 HOT

Koaadq

Question ID : 16794312784

Section : Subject Related

Q.1 e ovORN # TR AR AW F T F PR A A I A I
A X Fte o

v 2 [T gel

X 3 7a g

X 4 AT

Question ID : 16794312806

¥ R Sew gemEr #1673 & F gan um
Ans X 1. SRS

v g

X 2 ST

X+ afes

Question ID : 16794312810

Y s ¥ P T TS R
e XK FreaEer

2 g

X o TEEET

X 4 JTEH

Question ID : 16794312809

' sirre 3R TwEERE e & T 97

e X TeEeE
X 2 9% giEeg

Question ID : 16794312802




.{31@?3?33

X 4 T A"

Q.5

Ans

HiA-r Ferer T 7 B 2
o g

X2 o=

X 3 I==ATEAT

K 4 Fegfer

Question ID : 16794312819

Q.6

FEARTE SEdr FeaFia g7
X . BeTEE gl

v 2 Teaa gt

X< 3 SEEeT

X 4 gafe a1for

Question ID : 16794312800

Q7

e g R o F gufde s a7
& 1. HEgg

X 2 TEFpa AT

W 3 TS

X 4 Hlepd

Question ID : 16794312805

Q8

Fle-ar sty svreara g @l # R @ s wgee §2
X . TR FEa

v 2 Rrzgare

X 3. FHeT-HuT

X 4 AT Lead

Question ID : 16794312814

Q.9

TEETERT e ganT T 27
K. S fesurEaTHT

X 2 TrEETEr goderd

v 3 I A

& 4 A FeersTETT

Question ID : 16794312803

A0 s FEER YIS EREE 9 ST ¥ HUEE a?

Question ID : 16794312813




Ans

X 1.\q 1913
2 | 1903
X 3.\ 1905
X 4 T 1900

Q1

Ans

T - faeg wdr Feasia 87
X 1. STeHDes I

v 2 gelErmer gy SEue
X 3 e T

& 4 gargARTToT Fer

Question ID : 16794312812

Q.12

M= T ey & o R 9w &
X 1. mgramh, Eareaate

v 2 fem =ivr, Fpearh

X3 Ee =y, far =Rk

X 4 THATESH, FATEH

Question ID : 16794312804

Q.13

AR SRIOTAIT 3ToT % R F f == §?
X 1. gacTH

X 2. ATHICSH

X s TIETH

v T Jecard

Question ID : 16794312808

Q.14

gerfay - 9T Fer B §HT - 9F &
X< 1.1918-1938 &.
v 2 1938-1953 €.
X 3 1900-1918 &.
X 4 1938-1963 &.

Question ID : 16794312811

Q.15

AT @ AT H Feel@dd Fid &
K TeT

X 2 JEgFT ART

v FEHE @t

Question ID : 16794312807




& 4 IO @RTET

V18 TR FT FeT - AT FA I T G F TF §7

Question ID : 16794312815

At 1 T 1924 T 1942
X2 @ 1918 & 1932
X3 @ 1925 & 1952
X+ @ 1936 & 1946

V7 Rrodt OyerT ¥ & 3U-EYEE ¥ A9 T

Question ID : 16794312801

A% X 1. g
X 2 garfimar
A2 fgemer 3R grererdr
v o giER, e

Q.18 forw gfr # v # o7 3y = T Ml W & Ror & Ay - T dw o f Pt B B e

Question ID : 16794312816

Ans X1- Sé'iﬁ'
X2 HIg
v 3 FrETTET
&< 4 gEafEs

Q19 R arew 7 oifREE fFer Yo WA w1 o TEvyR e Rl ar

Question ID : 16794312817

Ans - X1 SreEiARTIIOT TR
X 2 IEFEE 3T
X 3. FTeET IS

v 4 ARG BT

00 oo suemTy B e 5w aa @ T 32

Question ID : 16794312818

A X1 oo TRufaet # T
W2
28 v 3R g2 e ¥ gearen aREis feea
X s FUF S HT GATATH F =FOT

X 4 FAANSS, grefaar, HReT s &{or

Section : Subject Related
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X 1. TGS WP

& 2 TETAT SUTHE-E §IEEar
X 3 gafaerE oA
o o HHET TT

Question ID

16794312828

Q.2

7 9F & W TR ¥ et & oo 38 S wear 87

X 1. w7 g
v 2 Fggleed
X3 R o
K+ IsEr Hivedr

Question ID

16794312832

A U AT ARG F AT FRHA o
v . T Tpcara
X 2 REgarE 7o

X 3. ITHEARTET H

K 4 FAEIATS Agw

Question ID

16794312821

Q4

SHTEEYT & Had 959 fAausn &
X1.ﬂm

‘f'z, Ll teg ?1d1ﬂ
< ¢ enfafw gfaadr
X+ Ra=a v

Question ID

116794312820

Q5

forrer i & B s Fr ereerEE = owRR g T 2
X . FITHT Fr eregTaer

< 2 37t Fr eerTe

v o TTpa #T TcEH UeEen

X 4 3T FT eregFen

Question ID

16794312839

Q.6

‘Ala & Tare Geeh & s e fwr & grae §2
v REEts
X 2 S
X 3 ATEH

Question ID

16794312827




X o Y

YV amam i a g Question ID :16794312833

o 3¢ FAA ¢ T =T

3¢ & % g 999 e @er?
A X . gfiEeRT s=e

X 2 Fieraey

v 5 sTarET wae e

K4 EaEET

¥ Pl 9T g T S Fr Question ID : 16794312837

M X arEe & o @ e g& o
X 2 fger 38 A9 F 3T o
V:SE IR AT AL, T @
X 4 FOrSTEY TR S8 ] W

Q9 STy EETe & FAw iR FEar i Question ID : 16794312823

Ans X-I_ * ?
v 2 FH=Ar gar
< 3 s & 5ug
X 4 greTufy

W =l ¥ ar v FELI 2 Question ID : 16794312829

A X . coTETeRS JUT SSATHE
X 2 FATATET, FHeder g
X 3 eHE, AaEAEE
v cafafaSs au aEgs

Q.11 Hﬁ'ﬂjiﬂ' Eﬁ' STHT =FT %7 Question ID : 16794312835

Ans 31 T
K 2 el
W 3 gEErer

x a ;qq.—?'ﬂ'




W i feey e Rrar &2
A 1 FgraT

X 2 Hdwg

X 3 TgIR TeT

v R

Question ID : 16794312834

O T 1925 & F F-ar oy w2

Question ID : 16794312822

Question ID : 16794312830

O et s Bger TERT B

Question ID : 16794312826

VO Fy 7 BT A TR FAE

qu?T diqgﬁn“l <l fgri ﬂﬂz;,
Ans 1. ST

v 2 JerEerd

X o HIEH

X 4 THGH

Question ID : 16794312831

Q17 gqenrerdy #fY sgwar & TUE R RREe TR W §2

Ans X . FeTer ofd F

Question ID : 16794312824




v 3w difgwar =
X s gieg & Fegerdar #
K 4 AT Hedr @

W st @ e Wy TEes A W 2 Question ID 16794312825

Ans X1~5};ﬁ'm
X 2 Feell 8T
X3 @] der 38
v o A A

U9 iy oeal & & 5O THET FT & AT & 67 Question ID : 16794312838

AN X1 sr3rar
X 2 HIET GE
X 3 FeRay e
Ve GECC-ol

Q.20 :m E‘j—"_\r Eq-ﬁ;la- Question ID : 16794312836

T2 ¢, 9fFF §,
HTET, ST, dHF, THS H JoNS |
AR FiT 22
e X1 BT o
Ko
v o AT
X 4 gHg

Section : Subject Related

Q1 m@mﬁamm@wmwsmmymm@h
Ans

Question ID : 16794312847

v T H e
X 2 gfreafy
X s SR TR

X4.ﬁ#l’

Q2 (
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Question ID : 16794312851

A X R
X2 JAem W
v oomg I

X o BT T

* FIR F TE T FF A7

Question ID : 16794312848

X e
v o g
X 3 HTCATH
X 4 AT TITHT

Y ey $r amwr 2k O T

Question ID : 16794312843

K s
X 2. Sramr, fecas
V' 2 33 3aed, g St

X 4§, TIA

O gy AT R weE @ w47 7

Question ID : 16794312853

Ans 1. ITHH
v 2 TEreT
K 3 THIeA
X4 THE

O e tEEE # 5w fvw W Hfaes @dam 87

Question ID : 16794312840

e X o favaes
X 2 gpia Evgs
v 5 T o
<4 T BT

Y e FER F 39 &

Question ID : 16794312850

Ans X 1. IET
v R
X3 g FE




X 4 TETT

Q8 3 gl gaE SRAD & P @ TR @ e 5 4. e & o &2

Question ID : 16794312844

A X Fremrar e
X 2 HERT faeaieered
X s feeenr Teeafacame
v i TaEaF Taeataearey

.9 }
Q9 7 semwmerd ¥ @ Fr dfT gE aw I W TER F T7 gA? Question D : 16794312842

A X1 spEI waRd
X 2 gSTRT Fael
v o aET geedr
X o gfEa gaen

Q.10 W T %ﬁ- Hferfrerzor a;rl.—rr =T aﬁ' %“? Question ID : 16794312849

e o g
X 2 TeEErE
< 3 R
X ferET

an FIF-T TIAT ST, THTGTH AAT Fr %’7 [ Question ID : 16794312845

A XK. dradt eETedr
X 2 7T 3MRTET
X3 A7 Rew
v 4 gt 3R T

Q12 RErdr & A% o & FERIS T G Gor T, TR FiT A? Question D : 16794312841

e X1 e g
v Fafag
X3 357
X 4. irrer wETgy fiE

O e #F B gt = gfRTER S o 2 Question ID : 16794312857

A X1 sER, TsdrTan, S0 a
X 2 A, Fg, TS I




X s gpia, GTEg daar

 « FiE, TS, Foaal dcd

U SrE FoE F =0 WE O # T A Question ID : 16794312858

"X e Rig
v 2 gesia fiig
K3 T
X 4 gt T

Q.15 s & Fmaw F T T T, TEK T F Ty Fead 59 8

Question ID : 16794312846

Ans X1mm
X 2 et
v o aRdR SR
X4 gg

Q16 ST YIS F THeAwd Question ID : 16794312859

Ans - X1 eTIT
v 2 TR
Ko B

K 4 gHEeE

Q17 z@t 7o & a2 3T A T O FXF T A TR A A A2 Question ID : 16794312852

A R

X+ g

X 3 g

SR -CiC
O ormEEr FR R F oot @t # w7 i Question ID : 16794312855
e X e o

X 2 gAETSASE orEr

v o gt & o

X 4 FTFHITS B sTIAT

a19 t[s::fms{ TE H 9= T F4T %"’ Question ID : 16794312856
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Question ID : 16794312854

Section : Subject Related

Y sieT A7 T oaeT A b
A K1 saTHT

X 2 sirsme

X 5 ITEF

v o gfEe

Question ID : 16794312870

02 reRIe T SHIERE oeg 7
A X mERYT

v 2 UEg

X 3 TFEA

X 4 TETeT

Question ID : 16794312873

 frE # e W T &
Ans X-Iq?:l.qﬁa;r

X 2 sETiERT

< s BrEalr

v 4 ST AT

Question ID : 16794312865

O e FwT w R w9 &
Ans }(1.?

Xz.gﬁﬂﬁ

Question ID : 16794312867




Question ID

116794312871

O gftEr & H

Question ID

116794312868

7 s T IR g

Ane X1 &g+ g +73
K2 o+ 3
Vo ae
K48 + 3Ry

Question ID

16794312872

Q8 128t e 1381 & Hew svege WA H GHiE T &
A 1 gfaEr @

X2yt |

X% 3EEr o

A4 omEst &

Question ID

16794312864

Q.9 = S & sfeww # avg WA F A I # Ieow R, AR wieees oEE 9§ gy
ST T &7

Ans 1 g/
X 2 3raedy
v 5. araster

X o Epd

Question ID

16794312860

VO oy AT & W S SES @ g

Ans

Question ID

16794312869




X1 g
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Question ID : 16794312875

Q.12

g9 F=ET g
X1.Q-
PSR
}(3.%‘
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Question ID : 16794312866

Q.13

g S Fr giEafeE B s
Kool Bl A

X 2 ofgeer e &

v faEd B A

X 4 gerEumer e &

Question ID : 16794312876

Q.14

¥ 9a1T §F §F §, SH-HH TWEd 9E) FEH e T
K 1. IFAT
X 2 TR
X 3 H9Ed
v g

Question ID : 16794312874

Q.15

128 Fam 133 % ALW egw WA H GIEE T &
v OImTTs

X 2 g3EEE

X 3. HAAHS

< 4 GTHATCHAT Fahrel

Question ID : 16794312862
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Question ID : 16794312861

WV gudnrer et frae gSa @ I 87
e X @ ger
A2 gt gaR ar |t

v g FER
X 4 TF gART TF H

Question ID : 16794312863

Comprehension:

A forgr gegmer & 9fedr HR 9% v gt
% Feel Al

U W@ § HaT T
I8 F9d FFI ST g, | FAT & TF
7a o3 & sad o9 I,
FT 3T HTAT § 3T 9572
T HIARTeAT $8 do-g8 FHHT 9a I5%7
A T § HEr T |
SubQuestion No : 18
U T o
Ans o 1. HET
X oo
WeogEr
X U

Question ID : 16794312879

Comprehension:




e forgr geamer & 9fed HR 9% v geat
& 3o A=

UH T € Ha T

I A9 FET AT §, AT & TF
o 93 & A 9 9%,

FT 3T AT & 39 T2

UH @I § Har T |

SubQuestion No: 19

al 3[E FAAT T o E:

Question ID : 16794312878

Comprehension:

s fore gezrer &t 9fed AR 9 71T gear
& 3ok SIS

€ @ g har T

T AT FE AT E, TE AT L TF
B o2 & sud 5% I,

FT FET AT § ¥ T57°

UH W@ § HE W |

SubQuestion No : 20
% wemrer & 3% @ 3w &
Ans X 1. HGS
v 2 TR
X 3 B/IA
X o g

Question ID : 16794312880

Comprehension:




A fordr ez @ 9y R 9% T geAt

% 3ol eyl

AT 3 ¥ F5 ¥ geHEw #T o Sad A
T o Ao Gred Gl GoigdAR & o
I HT ¥ WS TEHR A0 33| Figed ST ool
g wela SO e § Iohr aEt F S
T 3T, FlA1 & T WA GaAT S A §H g
W g7 R & & amar 81 3wl 3§ feetor
FfT W 7 =9 IfhT @ 0| IO Wigy WS
AT 91| 5 T T & T

SubQuestion No : 1

Q1 Wﬁ = E;E.f ICTiED FE T '\g?-iT'?‘ Question ID : 167943126884
N i

X 2 e

X's AN

v A A

Comprehension:

A for g & 9fed AR 99 T geAr

& 3o’ A

FART & & & W TG HT O 'HET 0T
AT TIF Ao Gredd AR AFAR & o
ST Fa B WS WEHR AT 38| Wiged $aT1 Grad
g, TIT ST HTHNF g, I H@l oF JW 74T
TR ST, #M&1 o CET §lid Gar = A=l 560 g2
W g7 REr & & et 21 el 3w feetor
FPfd W I8 T99 T @ 0| 3O Higy WS
HTFAT a1 FF T T & T

SubQuestion No : 2

a2 Wﬂ' FT HET 7 @ F4T? Question ID : 16794312885

e XK. T TR




v 2 Far JER
X 3 s Tl
X 4 griged

Comprehension:

e forg sreaner @ 9fed 3R 9% av geAt

& 3o} aad|

AT & & F5 ¥ gedew 7 o8 Fad e
AT B AT GrelH AT ﬂaﬁ?m{ F T
A HT ¥ B TEHR AT 33| Fifged ST ol
g, TN sgar S g, 3T Hi@ 5 J9 F4
TR T, FTAT o T7T FolMlg For A AT 57 T
W g et & & e g1 39er 39 Sewtor
Fepefe W 38 T 9fea | Wl H9e dHied WSt
AT o7 58 9T 9T & T

SubQuestion No : 3

Q3 g +
*{-I:dg'rd-ll'{ Rl LRI AT .ﬂﬁu“‘l Rl ShIIU] %f Question ID : 16794312883

M X 1 g @ o
X 2 gorderE Hr Fi
X 5. gerder & wla
¥4.§mﬂ={3ﬂ'€ﬁ'

Comprehension:




sArer forgr sreaner & 9fed HR 9 v geAt

% 3ol QTS|

AT 3 ¥ F5 ¥ geHEw FT oF Had A
AT ST ATAeIANST "Grold' ool GoigaAR & o
I FiF T S TSR ST 38| Wifged s34 el
g, TS TaaT eSS g, 3 HGE o S T
TER SWT, FAl A TAET T Gar S AT 57
W g7 et o & e g1 39er 3w ewtor
HEfT W 9¢ T8 Flehd @ V| 394 Higd W A
AT o7 38 5T T & T

SubQuestion No : 4

as Wﬁ%‘ﬂ' HIIATAT Ag1? Question ID : 16794312886
A e @t W
A2 e et W
X3 I FEFER W
X 4 HI IOT
Comprehension:
oA forer argamer @t 9fedr it 92 v geat
% I Al
FARY & F F3 ¥ JAUEIH F BF 'HET 0T
#fAT o Fadedine "GratH G oEAR & 7
ST Fid @ Hid TSR A0 35| Aiged s el
& I =aaT HTHEF &, I TE F Sy Far
TER S@T, Al o TAET T Gar S AT 36 g2
W T & dle & 1ar g1 9 5u Reetor
HPfd R 9¢ T Thhd I§ AT| A Higd | A
fFATT o1 38 g 9T & T

SubQuestion No : 5

Q.5 3-17-;?-?]?];{]' =51} 34'93' %" Question ID : 16794312882
A X1 AR aEET
X 2 ywfaw T




v 3 3T
X 4 g

Comprehension:
Arer o weamer & 9fed HR 9% AT geAr
F 3R S|

o @ § o fsh oo a9
g B HT e TF W E

& | $T g T

HEE off FIfAT W -

e e & e
grefifer Ig g AT =4

I I FFT o FE

I 3 e o

Tg IF g ofr FEr

feraet wer & A% 9EI 59 o #

SubQuestion No : 6

6 :
0 Ffy smF FT FEAT TRAT 7 Question ID : 16794312891

e X TR g F T F A R B

) Qq#maﬂ'éaqmiw{w
 oOfSg FLE 9T B

>~ 3.

g7 & TEEE A F T wWHES &
> a4

gy, sifeg, @ & S & saET TR 2

v

Comprehension:




A o weEer # 9 HR 9 v weAr
& e Ao

& T g e R o ooy
T HR AT EF TR

& W H g T

g off FIET W ek

e o & T
gTelifer Ig I FNam Er

IZ 98 HFF o Far

T F THe ofr FE

Tg Jg G of 7

fraetr wér & A vgw 3W o7

SubQuestion No : 7

7 s @ oAt & Question D : 16794312889

Ans X 1. athme
v 2 Tl
X 5 far
X4 od

Comprehension:
A o weEer # 9 HR 9 v weAr
& 3oat AT

& T g e R o ooy
T HR AT T EF TR

& I @ T I

e o wfEw | e

oty o9 & e
gTelifer Ig I Fivar =Er

I I FFT o FE

T F IHer off FE

Tg Jg G of 7

fraetr wér & A vgw 3W o7

SubQuestion No : 8




* wfy frw F Al F g war §? Question ID : 16794312890

VAR
X2 o
X %
X 4+ wifta

Comprehension:

Arer forgr wezmer & 9fedr HR 9% aw gear
% Fcal Alfeid|

& @ g o R uv @ 9y
g #r AR SR TH AW E

g7 T &7 a1 T

e ofr FwIfAw OX ook

e o o
grelier Ig Ag AT eI

T 9% AP A TR

I ¥ e o 7

ug I7 Qs ofr adf

fohcelr Tar & BT TE9 39 YT H

SubQuestion No : 9

Q.9 ‘E‘ET 3ﬁ7[ m T %-? Question ID : 16794312888

A X1 g d aREE
v 2 mrfgen AT "I
X 3 gFRR AT WO
X gEhg ek B

Comprehension:




A g weamer & 9y HR 9% AT wgear
& Jca difer

o @ § o fBsh oo a9
g T HT TE TF W E

& | FT RE T

P off FfAT O -k

g7 o9 & s
grelifes Ig =g AT =@l

I I FFT o FE

I F ITH ofr T

o7 ag fosdr of &

foreetr wér & A% == 5w O @

SubQuestion No : 10

4 wezrer T o %

Question ID : 16794312892

Are X faer sl ol
2 99
X o st
/X 4 gg=

Q.11 77 & = # T = aiege i s oo iR & 7 Fee T 5 s am a2

Ans 1

Question ID : 16794312896

faveror, HeaTeRa AR GUH & F Hlere
X 2 e, R, geoes H wEe

W 3

X 4. T, e, geiEwor 3 T

Q.12 Fr=fafe # & B B F fn 31 o 37 g ot wwot # g T mEee # wEee w1
3T TR E R

Question ID : 16794312899

e K st
<2 Fafaae
K 3 sqFier

W 4 3R oTER

Q.13 oiat sk vt & ArnaE § 9E T T F e aﬁhﬁrﬁl[

Question ID : 16794312895




ARl L
X2 T F dEa
K 3. GETITd EERT HiEe
K 4 TR T § g

Q14 F=ffEs & 3 #fF @ Rees Iedvafes R ot & Fd-69 # 78 o &2
A X1 eTEer - Regor

v 2 gamaeh e

X 5. Herarprel facaTerdy e

K 4 TEER ganr fArefor

Question ID : 16794312894

U Sresforr @l FT Fr afremeT =

Ans X' 1.
oHE F 92 F Or fuw F9 F 393ET S5
>~ 2
Tofr oTs i amemEt B qUt S & frv AT TEE w1 g
~ 3.
frez s ik g o3 ¥R SeE P G d) B o s
v 2

e Renfiat 3nawaaﬁﬂ3ﬁ'éraa§=ﬂrzm:nh 3 aremraa @ s

Question ID : 16794312898

Q.16 == w=r=m s arfy, Fer i RN T Anw F w9 F O w ¥ & 0 HF oW e
FFET 7

Ans X1 TT AT
X 2 Afdwer
v 5 g wer
& 4 gHEFEINS Hell

Question ID : 16794312900

Q.17 = fa=wev S

FRFT g o et (R s g gee & e B s 8
A X cEgr gfawdt @

v 2 e et

X o ofx s () TR A

Ko T

Question ID : 16794312893

Q18 fiz seamiforer (Feitve) wfofeas e af & oifa fmr wrar

Ans X1 2003 F
v'2 2005 #

Question ID : 16794312897




< 32008 H
< 42002 &

QY g g A A F R I REE wew . #
e X1 e @faT s

v 2 BfFear Fr 3T T

~ 3.

T & TOIT gEer T RS @ HETele T

K 4w T w99 & oHor Far

Question ID : 16794312902

Q20 mray 3y Hfmar @ur 77 R T 9ER & U F IR & T 82
Ans

X 1. I7d 9redsA (Hidden curriculum)
<2

yafafegg wrsTFEa (Implicit curriculum)

X 3. gEIee TedsA (Explicit curriculum)

o 4 YT T&THA (Null curriculum)

Question ID : 16794312901
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Section : Mental Ability

Q.1 FaEAF fea @t wiEwRE g $r 2w oy
:ﬂmmﬁm?awﬁamﬁmm NP IR R AR N S W Question ID : 16794312917
Ans 4
¥ SR
7
4
K2
10
h
p R
7
4
b QI
a8
Q.2 : i i
fEeFedr 7 ¥ BwH HI%i?l FT TTUT FL Question ID : 16794312905
Ans
x| O
A

i
<O
|

Q.3 fGr=fafas gy o svome &1 o7 B o wm = 5= &)

Question ID : 16794312914

F T AT 39 HANST TUHTIARHAT FT EWT il § FT Sehede/ e ToHs T8 47

ans f 1 q
X214
<34
K49

Q.4
[ Question ID : 16794312913




g7 & ITH W A & l

Ans XT tﬂﬂ'

v BT

X o ffar

X4
s HEOTHT Fr fAws gIH Ad FII Question ID : 16794312920
Ans - X 1. 625 1 325

v 2100 :: 140

/< 3 256 :: 136

X 436 21

e 2 W bl b Wl ’ Question ID : 16794312912

Ale
o+
Adls
Ans &
X |l®
A
@ |
A
Pty
X3 |04
Aol
A
yf4. @
A |
@7 e F 3T Tt 4T greir? Question ID : 16794312907
s
— | —
Ans




Q.8 wmEw #H 50 =% ¥ Fwr T #r 70 7% ¥ ReEE 99 o wmE & HEwE 1 2 W
” 3"‘5 e Question ID : 16794312918

e o130 a9
X215 a¥
X310 a¥
X437 3§

W PR Reedt # ¥ fw Reey & 78 a5l sewfa 2 Question ID : 16794312909

T

xR

Ans

v | 7R
x+| 5]

10
Q10 =x frre o7 99 Ft S ye REw & TS P T 0T AW &) Question ID : 16794312906

Eaiaaa ?
:DDDDD =1
| o G e |
292000 o
Ans
X1l 0OA
O
X | UA
i3]
X | AHA
Pkt
il A

Q.11 F=fafEs o FafT (T8) F “XYZ' TFNF F9e T S e B S & o e )
2016-17 3 S g2 whw, F AT wRe wEeE BT wwiE gt f g amr 12462 3 Question ID : 16794312908
i
e e (@% b
RRL 8 aa k- m/ 15%

“18% o W g
O
o T, LKG M7 UKG)

XYZ Za T 2016-17 # Sfag #1 foroer TEh waTio 1 T §2

Ans  of 11869




X 2. 1246
< 3. 2243
< 4 3987

Q.12 . .
=T g@er & 3w 98 F=247 gem? Question ID : 16794312922

HU, JS, MP, ?
Ans X1 TK

v 2 QL

X 3 FY

X 4 AV

Q.13 =% ey angfs = 97 w1 30 AW FEE ¥ 5 A s & B A aEl v e e
# wEE E Question ID : 16794312904

DD 2

LD

[

v+ | DX

=

Ans

Q14 s -mramaa =4, Fammm+§ «Fawa KT+ mamwE « F A 18+ 32 4«6 +5
= A Question ID : 16794312916

Ans X 1.147
v 2 143
X 3150
X 4149

Q.15 feftrur, swor Fr wg=r §1 awor & Par 1 oA wge F 97 1 R F @ Fw = 32

Ans ?<_L fa?qr

Question ID : 16794312915

X 2. ST=/ATANGH/ TS/ AAT/ e

X3 A
W mffelﬂ?m e

Q.16 & o
sTear &1 auH I9H A FI Question ID : 16794312919

Ane X1 gedr - A
Vo e e




K 3 Fegr - AT
X4\ Afe

Q.17 swiws #amd st o vorm wrat et ag-redin Fovt & T wEwerT ¥ afEet & ffae 5

e forfld olien & wed T &g g & e 9gea It & g # @ e e 8 Question ID : 16794312911

FaftT o I shEEEE §

-

a) & o HEA FEE & 65% W 3w @ HiUw 3 A WA A1 39 W 55% W 3W T A
T wige @ Fr 3ot g @ =iz

b) & 70% T 3@ & sUw et wfie Wiee ol sEg et & 8l

c) #r smg 1/4/18 F1 25 F 30 et F Fr= =T A

d) S AEES TR F 3 T F FEE T IEH T 60% W IH F AU T AT Aw
# feaa s g e

e) THES H 2 6 9@ W IF T ACSF F 9T 7§ & AW 3= T FT WA

g semdf -

1) IRFA A F HATES 30 g A F QT A, A I Fs SWER F E A
e farar =moom

2) I (d) 3T (e] F HARFH 377 T o # O0 FA &, & W THATER F
w7 F fafier fam =mem

fE Femef -

5 =t ¥ e wiEe ST w ot 2 Ot wer f) A s afre v B e A

fafewe famar smoem)

oty sreredf -

ok reeg v e A v () Fr MEw oo wfes swies ol oeEE (ae) SO AT R,
a1 39 e (S & ¥ § fatese fEar smoem)

e wolr st o srerme st ol SeeREm en &

e & qrE it # st oy iy e § 75% e afee e Iate o A 2018
AN i mr omesk s thr R f oas ot & sy e e
¥ v Wi T 71 ¥ §7

s X1 FfAass SEER
X 2 e (1)
X ¢ Ffrs-aaeR
v 4 3T TS

.18 . : .
Q ICP== I IE] el FH H{ETHT HEOT F4T gli‘it ? Question ID : 16794312921

4,9, 20, 43, 90, 7

Ans of'1.185

< 2190

X 3 207

X 4180
019 fem o wew ek 8 oo o iy | o s e BN ST Question ID : 16794312903
A o 1 e

X 2wt
Vo fEw
X+ Ry

Q.20 3 #== 3 = o T3 ¥ i e o=t AT # T 100 = v e o 2 ¥ anw =

Figs w017 Question ID : 16794312910

e K1 A # wEeT e &
W2
Ale & TEAT F ¢ead & [T GO HET




X3 =y @ e
X 4 FET oI I ST T=T T

Section : General Awareness

Q.1

Ans

R s & wAfn SR e e & o e, Rrar ma an
X 1 ST

v 2 grpd

X5 o

X R

Question ID : 16794312931

Q.2

Ans

TS FAT Rew e ay | #r AATT 6T R
X110 wEd
X 2 4 wradr
V'3 28 wraEdr
X 4 22 AT

Question ID : 16794312938

Q.3

Ans

X1.2014 #
X2 2015 &
X3 2013 #
v 2016 &

Question ID : 16794312942

Q.4

Ans

ST s #F 64 e $ @ & T Wy w
X enffe ofzat

v 2 TSE F UF TEE

X 3 THATHAT F TEERI

K 4 enfiw st

Question ID : 16794312923

Q.5

Ans

2015 # 3wt g IMPRINT §farm ger & i Rt shaaifrd srqetr afnrer fire s 42
X117
<211
K33
v 410

Question ID : 16794312926

Q.6
Ans

FATY W A F A Uy STk oRe 211945201b), _ dovet guwr @i
X el

X 2. FHATES

J3. m

X 4 HATERr

Question ID : 16794312940




Q.7 31 5= 2018 7% wE & o = & o Praffie 4 Bt (orbwfn # @ s B o w0 i
o & WE F% fSEe gl 5 9 A Question ID : 16794312925

MV Ree sl wienedr Aerew
X 2 e, d R 3R T #9eT
XK o STAT] FAT T
4 3rafeer faemer

8 - g
Q8 o & T ST T ATV FELIA F S § Heta §2 Question ID : 16794312927

X e 18
X 2 =S 16
X s IT=0S 19
W o Hepese 17

VO FRfradr | & TR s s F A8 sear B Question ID : 16794312934
A of 1. arier war

X2 e

X 3 FeATEH

X 4. AfAeAg
O T T A T IHT F F HEOT Question ID : 16794312937
Ans X 1. %amE

X2 o
X3 3aEae
v g

Q.11 x i &
I HTHUTH FEIH " & g Question ID : 16794312941

Ans o1 TS
v 2 ZETEA
X 5 HEEET
X 4 B

12 efafea | I i
e 2 SR S S ¢ ) &7 Question ID : 16794312932

As o T
2. e
X s =i IL=T
X 4 FrerE

Q.13

Question ID : 16794312924




Ans

AT TR H o 9T Teaw f9ew A G e g

K. 37201 =T omE=

H. 7o e & 3R

T. H3TYT & ATHHT FT AFT TS
D. 3eai-99H H HRa-TA= AT
M. HEET F FoIFasT FT  HHATT

500 $HT I & 3ReT @ Ao TET FIoHHGE HH FT &7
X 1. M—=T—D—K—H
v 2 T-M—K—D—H
X 3. Ko T—-M—H—D
X 4 T-K—-M—D—H

Q.14
Ans

:\‘nm?rqrarmmiv;aaqaﬂfmmss#_#gtwmaﬂma#mwmm
v e

X 2 BT NPT

2 3 =TT

K 4 FITemger

Question ID

116794312939

Q.15

Ans

AuTeT H AT 7 ¥ o9 9 #e g 7
W . gIITOTAT
X 2. FreRdTs
X 3. sframer
X 4 FraaTe

Question ID

116794312933

Q.16
Ans

s e s T PR (o o v a0 g a1 A st e R 2
X e

v 2 7% feeelr

< 3. ;ga'é.'

X 4. g

Question ID

116794312935

Q.17

Ans

Srangae o ey A e CCacald
X EifEs

v 2 FEHRTOT

X o st

X 4 g

Question ID

116794312936

Q.18

Ans

2018 S e &9 v ¥ TR s q¢ [P 7 RS F 4
X 1. et wigar @feswR)
X 2 F@T Alige (Frefaam
X s T e ()

Question ID

116794312929




v El F (5elE)

U AfFew BT a¥ F 9RT F UF ToT g6 Question ID : 16794312928
e XK 11974 F

V21975 &

X3 1970 &

X 41976 F
Q20 gmrg Fr soh SeTe & FEER ¥ Bl Question ID : 16794312930

Ans Xl ﬂﬁﬂg
v Bg

X ofeam e
X 4 HEH

Section : Arithmetic Ability

Q.1 o= swow & =avg & 40% F 3 & = b Ty = Gw offem @ = B s ofer e
w78 BT Question ID : 16794312949

Ans 300
X1 "

X2 2o
v o

160
X"'- T%

Q.2 3 gww i 12 = BEeT v w9 w24 BF § s w7 T 1 40 W T 46 AR
fmer 1.5 T =R W e wEw & Qo af 16 T g o OF F frr w12 Afremit Question ID : 16794312960
EAAT 24 ©ET A faT 9T FF & O q@r

AN 1 g fy
v g Re
X3 6 R
X410 o=

Q.3 o= #= 65 kmth F W ¥ ww W ¥ 7F 12 FE A 5 km/h AT 7 Ew S wfE & Rew F ww
TR FE AR A NETE AL Question ID : 16794312956

Ans X1 240 m
v 2 200 m
X3 215 m
X 4185 m

Q.4 = =T Fw w80 WY w g n&wﬁrm*?&%ﬁiﬁﬂ%aﬁrmmﬁm%
& e @ Sl A sEd awE 8 g g Question ID : 16794312950

Ans  of 1 B0%




& 2 50%
X 3 40%
& 4 30%

Q.5 v= =fF= 3 ¢ 17600, W w9 & 6% of 8 F ax o, v O 5% BT F ar 9T 2 T ¥ Rw
WURUT s 97 TEdar e afy @ drsmnst 9T s aET £, | Seeie 6% Wi % ur Reder dwr

Question ID : 16794312952

T B
Ans - X 1. ¥ 7600

v 2 T 8000

# 3 T 8200

X 4 T 7800
Q.6 ::pﬁmd15:3:?¢wﬁfammmm2miamnmmqaﬁzw
Ans 31 4

V2 12

X386

K48

Question ID : 16794312946

Q.7 =wx sy sl Prmar 4 29 A 3 B9 T oE oitmer sien Rt 2 w9 & B awr B o
T ST | UE fREe M ST A Hea 67

Ans 1§
X22
v 4
X4 3

Question ID : 16794312955

Q8 ZmuAEFm eI N E A F R dx M Tl §, FF AFT T C 5T H
T g3 & T F A 8 2R e A e @ v @ oeE O B e oA e
# o i sy Fom

Ans 60
F =

60
11
60
19
20

X4.?

Question ID : 16794312959

Q9 (.07x0.0049+0.000125
FT AT a7t &7
0.0049x0.0025-0.0035 %7

Ans of 1. 0.12
X212
X 3 0.0012
X 4 0012

Question ID : 16794312943

Q.10 nﬁ#ﬁwﬁaa&bwﬂws@mmaﬂﬂawtmtma—é T

Ans 11
X2 4
vz 0
X4 2

Question ID : 16794312947




Q.11 13 12 36

2
s B

11 14 7 7
1 1t 7 7 1 Heu fTe syey 27
(15+150r50)4 "

Ans

XLE
9

Xz.E
7

Xai
21

.f4.§
8

Question ID : 16794312944

Q.12 =t Fwmst &7 TR TR 3% HESSR WAMeAw w1 143 T §) i A wman 3 s Ay
wear § 3y 39 Heeow aEdeaw 18 A 37 o wewrdl & sgeew @ 3 87

Ans 4
11.59

5
286

5
143

2
143

&2

&3

&~ 4

Question ID : 16794312945

Q13 sriFmmi s dm g i 4 b T ew FEr R ¥ @ AN G FTE s 6T I E,
HEHT & €= HeT dE T

Ans 31 9
V26
X33
X49

Question ID : 16794312948

Q.14 = =7g A T B FAar ¥ 2240 3 T 1700 F 5% = §1 T A W, 12% = 9 T B 9 15% #
it @ #1 T e g i e

Ans X1 25% gifer
X 2 1.5% =eF
V'3 15% aifr
X 4 2.5% oI

Question ID : 16794312951

Q.15 ofy v g7 & Brsmr 20% wer & &Y & O o=F &9 & 9w R w2 aeie?
Ans - X 1. 40%

v 2 449%

X 3. 36%

X 4 20%

Question ID : 16794312954

Q.16 =% == 3 == ¥ ¥ FOTAT @1 F, & 2 W ¥ v 2 20,000 & 12% Wiy =¥ or B
== 4T &Y

Ans X 1. T 5286.75

Question ID : 16794312953




v 2 T 5194.24
X 3 T 5088
& 4 T 4800

Q.17 vs smerdt 5 w2l # 15 km omr & wfémsr 3T 22 ke @979 3 TR AT S Oea §) O HET, 09 )
8 €2 & 20 km R & STger HT 44 km O F WY A @O FHE g UR R oA aw 8 Question ID : 16794312957

Ans X 1. 3.5 km/h
X 2 45 km/h
# 3. 4 km/h
v 4 3 km/h

Q.18 A B3 C & wmar 3w 2 3 4 §1 T vm T 12 B F ow wE W 9y = TEA 1 B e
s ww S T R # 9 W w87 Question ID : 16794312958

s X118
X2 30
X3 24
v 136

Comprehension:

=T & 1S e T 3ewTa L S 5 et A, B, C, D it
E#5TFP, Q R, S 3k T arm grcg 9f3ed 3% & an

T g1 &1 93 Bww & v d3%wan 3¢ vais Aww &

HHEA sehe # few 710 &
E::?rm* A(50) | B(75) | C(75) | D(150) | E(50)
P 60 76 80 56 52
Q 66 72 64 58 68
R 58 84 T2 70 74
S 78 56 76 48 86
88 60 72 60 70
SubQuestion No : 19
Q§1 ‘C # gt ol @R wreg dlug gfaea Question ID : 16794312963
He T 22
Ans of 1. 72.8%
X 2 725%
X3 72.6%
~ 4 71.6%

Comprehension:




Ay & 712 FrfereT FT uTs L AT 5 BwAr A B, C, D 3R
E#FSTEP, Q R, S 3R T gamm arcg gfawrg 3% & a7y
H a9 21 veis 3wy & o 3fean 3= v Rww &+
A §9e # Gu aw §

=0 *| A(50) | B(75) | C(75) | D(150) | E(50)
P 60 76 80 56 52
Q 66 72 64 58 68
R 58 84 72 70 74
S 78 56 76 48 86
T 88 60 72 60 70
SubQuestion No : 20
V st fwat F o P Sa Tod Fer Tl Question ID : 16794312962
3 (37 SAHAT TUET W TE) w4 87
Ans X 1. 83.75%
v 2 64.25%
X 3. 64.35%
X 4 64.86%
Q.1 Select the most appropriate option to fill in the blank.

Ans

Question ID : 16794312968

my foot was in a bad shape, I managed to play the match.
X 1. As long as
# 2. Because
X 3. Incase
« 4 Although

Q.2

Ans

In the following sentence, four words/phrases have bean underlined. One of them is incorrect. Choose the incorrect
word phiase ffom the given options. Question ID : 16794312978
You are not allowed in this chub unless you are nota member.

2 1. in this club
X 2. You are

+ 3 not a member
X 4 allowed

Q.3

Ans

Arrange parts of the sentence in meaningful and grammatically correct order. .
Question ID : 16794312976

A. In most government departments
B. on seniority basis

C. and there is no incentive

D. promotions are given

E. for a hard working person

/< 1. ABDCE
+ 2. ADBCE




X 3. DEBCA
X 4 DABCE

Q.4

Ans

Select the most appropriate option to fill in the blank.
It happened a long time ago
& 1. and
v 2 but
x 3. or
& 4 s0

Question ID : 16794312967

T can still remember that horrible night.

Q.5

Ans

Select the most appropriate option to fill in the blank.

Talks are to be held
# 1 on

v 2 at

X3 in

& 4 into

Question ID : 16794312964

the Race Course Road bungalow.

Q.6

Ans

Select the antonym of the given word.

CRATTY

X 1. noisy
v 2. naive
& 3. cunning

X 4 remarkable

Question ID : 16794312973

Q.7

Ans

Select the most appropriate option to fill in the blank.
“Where is Anoop?”
“He to England for two weeks.”

X 1. is going

+ 2 has gone

X 3. will be going

X 4 went

Question ID : 16794312966

Q.8

Ans

Select the synonym of the given word.

CONCISE

v 1. brief
X 2 fine

& 3. extended
X 4 sarcastic

Question ID : 16794312972

Q.9

Ans

Select the sentence structure that is grammatically correct.

F

The branches of the Dragon tree hollowed out and as musical instruments can be used.

&2

The branches of the Dragon tree can be used as musical instruments and hollowed out.

Question ID : 16794312975




&3

The musical instruments can be hollowed out and used as branches of the Dragon tree.

v

The branches of the Dragon tree can be hollowed out and used as

musical instruments.

Q.10 Inthe following sentence. four words/phrases have been underlined. One of them is incorrect. Choose the incorrect

wird phirase from the given opfions,
Yesterday Imet an old friend of mine when [ am going to the bank.

Ans X 1. when
v 2 am going
# 3 an old friend
& 4 Tmet

Question ID : 16794312977

Q‘1 1 Select the most appropriate option to fill in the blank.

Nowadays the vounger generation is so overpowered by mobile phones that their social
almost negligitle.

Ans o 1. interactions
/< 2. requests
# 3. emotions
X 4 affairs

have become

Question ID : 16794312970

Q12 gelect the svnonym of the given word.

MISERY

Ans X' 1. pervousness
/5 2. anger
o 3. sorrow

X a confusion

Question ID : 16794312971

Q13 gelect the most appropriate option to fill

The child ran away and hid
Ans o 1. behind

X 2 over

X 3. along

X 4 through

in the blank.

the tree.

Question ID : 16794312965

Q14 gelect the antonym of the given word.

EVACUATE

Ans - X 1. invade
X 2. vacate
5 3. emerge
v 4 fill

Question ID : 16794312974

Q_1 5 Select the most appropriate option to fill in the blank.

The crops inmany districts of Maharashira were affected by a lonz spell of . The farmers had no water to

iniga e el

Ans  of 1. drought
2 2. summer
X 3. storms

Question ID : 16794312969




X 4 winter

Comprehension:
Read the following passage and answer the questions given
after it.

'Aha!" said the undertaker; looking up from the book, and
pausing in the middle of a word: 'is that you, Bumble?”'

Wo one else, Mr. Sowerberry,' replied the beadle. 'Here! I've
brought the boy.'

Oliver made a bow. 'Oh! that's the boy, is it?' said the
undertaker: raising the candle above his head, to get a better
view of Oliver. Mrs. Sowerberry, will you have the goodness
to come here a moment, my dear?’

Mrs. Sowerberry emerged from a little room behind the shop,
and presented the form of a short, then, squeezed-up woman,
with a vixenish countenance. My dear,’ said Mr. Sowerberry,

'this is the boy from the workhouse that I told you of’

Oliver bowed again. 'Dear me!" said the undertaker's wife,
'he's very small.’

"Why, he IS rather small,' replied Mr. Bumble: looking at
Oliver as if it were his fault that he was no bigger; 'he is small.
There's no denying it. But he'll grow, Mrs. Sowerberry-- he'll
grow.’

'Ah! T dare say he will.' replied the lady pettishly. 'on our
victuals and our drink. I see no saving in parish children, not I;
for they always cost more to keep, than they're worth.
However, men always think they know best. There! Get
downstairs, little bag o' bones.'

With this, the undertaker's wife opened a side door, and
pushed Oliver down a steep flight of stairs into a stone cell,
damp and darlk: forming the ante-room to the coal-cellar, and
denominated 'kitchen'; wherein sat a slatternly girl, in shoes
down at heel, and blue worsted stockings very much out of
repair.

'Here, Charlotte,' said Mr. Sowerberry, who had followed
Oliver down, 'give this boy some of the cold bits that were put
by for Trip. He hasn't come home since the morning, so he
may go without 'em. I dare say the boy isn't too dainty to eat
'em--are you, boy?'

Oliver, whose eves had glistened at the mention of meat, and
who was trembling with eagerness to devour it, replied in the
negative; and a plateful of coarse broken victuals was set
before him.

SubQuestion No : 16

Q.1 : :
¢ From the reading of the passage, what type of a Question ID : 16794312983

mistress, do vou think, would Mrs. Sowerberry
prove to be for little Oliver?

Ans 1. kind and generous
2. cultured and caring
/< 3. matronly and sensitive

W 4 stern and dominating




Comprehension:
Read the following passage and answer the questions given
after it.

'Aha!" said the undertaker; looking up from the book, and
pausing in the middle of a word: 'is that you, Bumble?”'

Wo one else, Mr. Sowerberry,' replied the beadle. 'Here! I've
brought the boy.'

Oliver made a bow. 'Oh! that's the boy, is it? said the
undertaker: raising the candle above his head, to get a better
view of Oliver. Mrs. Sowerberry, will you have the goodness
to come here a moment, my dear?’

Mrs. Sowerberry emerged from a little room behind the shop,
and presented the form of a short, then, squeezed-up woman,
with a vixenish countenance. "My dear,' said Mr. Sowerberry,

'this is the boy from the workhouse that I told you of’

Oliver bowed again. 'Dear me!" said the undertaker's wife,
'he's very small.'

"Why, he IS rather small,' replied Mr. Bumble: looking at
Oliver as if it were his fault that he was no bigger; 'he is small.
There's no denying it. But he'll grow, Mrs. Sowerberry-- he'll
grow.’

'Ah! I dare say he will,' replied the lady pettishly. 'on our
victuals and our drink. I see no saving in parish children, not I;
for they always cost more to keep. than they're worth.
However, men always think they know best. There! Get
downstairs, little bag o' bones.'

With this, the undertaker's wife opened a side door, and
pushed Oliver down a steep flight of stairs into a stone cell,
damp and dark: forming the ante-room to the coal-cellar, and
denominated 'kitchen'; wherein sat a slatternly girl, in shoes
down at heel, and blue worsted stockings very much out of
repair.

'Here, Charlotte,' said Mr. Sowerberry, who had followed
Oliver down, 'give this boy some of the cold bits that were put
by for Trip. He hasn't come home since the morning, so he
may go without 'em. I dare say the boy isn't too dainty to eat
'em--are you, boy?'

Oliver, whose eyes had glistened at the mention of meat, and
who was trembling with eagerness to devour it, replied in the
negative; and a plateful of coarse broken victuals was set
before him.

SubQuestion No : 17

Q.1 . o 5 d

5 Match the words with their meaning. Question ID : 16794312982
a. vixenish 1. food
b. countenance 2. Fox like
c. victuals 3. Face

Ans X1, a-2.b-1,¢-3
X 2a-30b-2¢-1
X3 a-1,b-3¢-2
o 4a-2.b-3c-1




Comprehension:
Read the following passage and answer the questions given
after it.

'Aha!" said the undertaker; looking up from the book, and
pausing in the middle of a word; 'is that you, Bumble?'

Wo one else, Mr. Sowerberry,' replied the beadle. 'Here! I've
brought the boy.'

Oliver made a bow. 'Oh! that's the boy, is it? said the
undertaker: raising the candle above his head, to get a better
view of Oliver. Mrs. Sowerberry, will you have the goodness
to come here a moment, my dear?’

Mrs. Sowerberry emerged from a little room behind the shop,
and presented the form of a short. then, squeezed-up woman,
with a vixenish countenance. "My dear,' said Mr. Sowerberry,

'this is the boy from the workhouse that I told you of’

Oliver bowed again. "Dear me!" said the undertaker's wife,
'he's very small.'

"Why, he IS rather small.' replied Mr. Bumble: looking at
Oliver as if it were his fault that he was no bigger; 'he is small.
There's no denying it. But he'll grow, Mrs. Sowerberry-- he'll
grow.’

'Ah! I dare say he will,' replied the lady pettishly. 'on our
victuals and our drink. I see no saving in parish children, not I;
for they always cost more to keep, than they're worth.
However, men always think they know best. There! Get
downstairs, liftle bag o' bones.'

With this, the undertaker's wife opened a side door, and
pushed Oliver down a steep flight of stairs into a stone cell,
damp and dark: forming the ante-room to the coal-cellar, and
denominated 'kitchen'; wherein sat a slatternly girl, in shoes
down at heel, and blue worsted stockings very much out of
repair.

'Here, Charlotte,' said Mr. Sowerberry, who had followed
Oliver down, 'give this boy some of the cold bits that were put
by for Trip. He hasn't come home since the moming, so he
may go without 'em. I dare say the boy isn't too dainty to eat
'em--are you, boy?'

Oliver, whose eves had glistened at the mention of meat, and
who was trembling with eagerness to devour it, replied in the
negative; and a plateful of coarse broken victuals was set
before him.

SubQuestion No : 18

@' The passage is an extract from: Question ID : 16794312980
Ans X 1. an article

< 2. a biography

75 3. areport

“ 4 anovel

Comprehension:




Read the following passage and answer the questions given
after it.

'Aha!" said the undertaker; looking up from the book, and
pausing in the middle of a word; 'is that you, Bumble?'

Wo one else, Mr. Sowerberry,' replied the beadle. 'Here! I've
brought the boy.'

Oliver made a bow. 'Oh! that's the boy, is it? said the
undertaker: raizing the candle above his head, to get a better
view of Oliver. Mrs. Sowerberry, will you have the goodness
to come here a moment, my dear?’

Mrs. Sowerberry emerged from a little room behind the shop,
and presented the form of a short, then, squeezed-up woman,
with a vixenish countenance. "My dear,' said Mr. Sowerberry,

'this is the boy from the workhouse that I told you of.

Oliver bowed again. "Dear me!" said the undertaker's wife,
'he's very small.'

"Why, he IS rather small,' replied Mr. Bumble: looking at
Oliver as if it were his fault that he was no bigger; 'he is small.
There's no denying it. But he'll grow, Mrs. Sowerberry-- he'll
grow.’

'Ah! I dare say he will,' replied the lady pettishly, 'on our
victuals and our drink. I see no saving in parish children, not I;
for they always cost more to keep, than they're worth.
However, men always think they know best. There! Get
downstairs, liftle bag o' bones.'

With this, the undertaker's wife opened a side door, and
pushed Oliver down a steep flight of stairs into a stone cell,
damp and dark: forming the ante-room to the coal-cellar, and
denominated 'kitchen'; wherein sat a slatternly girl, in shoes
down at heel, and blue worsted stockings very much out of
repair.

'Here, Charlotte,' said Mr. Sowerberry, who had followed
Oliver down, 'give this boy some of the cold bits that were put
by for Trip. He hasn't come home since the morming, so he
may go without 'em. I dare say the boy isn't too dainty to eat
'em--are you, boy?'

Oliver, whose eyes had glistened at the mention of meat, and
who was trembling with eagerness to devour it, replied in the
negative; and a plateful of coarse broken victuals was set
before him.

SubQuestion No : 19
Q; Who has brought the boy and to whom?

Select the correct pair.
Ans X 1. Mr. Sowerberry - Oliver
< 2. Mr. Sowerberry - Mr. Bumble

# 3. Mr. Bumble - Oliver
o 4 Mr. Bumble - Mr. Sowerberry

Comprehension:

Question ID : 16794312981




Read the following passage and answer the questions given
after it.

'Aha!" said the undertaker; looking up from the book, and
pausing in the middle of a word; 'is that you, Bumble?'

Wo one else, Mr. Sowerberry,' replied the beadle. 'Here! I've
brought the boy.'

Oliver made a bow. 'Oh! that's the boy, is it? said the
undertaker: raizing the candle above his head, to get a better
view of Oliver. Mrs. Sowerberry, will you have the goodness
to come here a moment, my dear?’

Mrs. Sowerberry emerged from a little room behind the shop,
and presented the form of a short. then, squeezed-up woman,
with a vixenish countenance. "My dear,' said Mr. Sowerberry,

'this is the boy from the workhouse that I told you of.

Oliver bowed again. "Dear me!" said the undertaker's wife,
'he's very small.'

"Why, he IS rather small,' replied Mr. Bumble: looking at
Oliver as if it were his fault that he was no bigger; 'he is small.
There's no denying it. But he'll grow, Mrs. Sowerberry-- he'll
grow.’

'Ah! I dare say he will,' replied the lady pettishly. 'on our
victuals and our drink. I see no saving in parish children, not I;
for they always cost more to keep, than they're worth.
However, men always think they know best. There! Get
downstairs, liftle bag o' bones.'

With this, the undertaker's wife opened a side door, and
pushed Oliver down a steep flight of stairs into a stone cell,
damp and dark: forming the ante-room to the coal-cellar, and
denominated 'kitchen'; wherein sat a slatternly girl, in shoes
down at heel, and blue worsted stockings very much out of
repair.

'Here, Charlotte,' said Mr. Sowerberry, who had followed
Oliver down, 'give this boy some of the cold bits that were put
by for Trip. He hasn't come home since the morming, so he
may go without 'em. I dare say the boy isn't too dainty to eat
'em--are you, boy?'

Oliver, whose eyes had glistened at the mention of meat, and
who was trembling with eagerness to devour it, replied in the
negative; and a plateful of coarse broken victuals was set
before him.

SubQuestion No : 20

Q.2 1 RO I f 21
o There! Get downstairs, little bag o' bones. Question ID : 16794312984

Why does Mrs. Sowerberry call Oliver ‘bag of bones’?

Because he is:
Ans X 1. too small
& 2. very poor
¥ 3 too anxious
< 4 very foolish ( Distractors are weak)
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e X gy
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v e
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X 1. 9ATEEY FAT
X2 % fge




v O TR B
Ko T FE

Q.2

Ans

IR T AT H HIHS RE T F I o
X1 o

X 2 orer

v o AEEfear

ARt

Question ID

17230533185

Q.3

Ans

OIS T F faewa i e e € Hwar g
A0 T

X2 &g &

v 5 Frafzer

X 4 a%'m el

Question ID

17230533194

Q.4

Ans

2017 & fw fng &% & 9 & N #RT FEA OO 3 (AW F T A few A
degEET & T

v SE mEd S

A 2 gredr §ew 937
K3 TTaEr wEw g9
K 4 HTSE W FEr

Question ID

17230533196

Q.5

Ans

3R ST SR S (AIMS) T 1956 g
v #EE ¥ T FaETE @

X 2 T SEUSET A & w9 A

X3 uF gEeEs SR s F oA
X ¢ FEATAS-TFS TEHE F AT

Question ID

17230533202

Q.6

Ans

FOw THT & T 2
X 1. B difafes

K2 0 mafeT

v 3 o gifafes

X 4 AB difaifes

Question ID

17230533199

Q.7

Ans

Question ID

17230533187




< 1. 25 HFgET 1951 Hr
X 201 SF=Iad 1952
V313 AS 1952 &I

X 421 HIEr 1952 &

Q.8 m=o= 85 (1) ¥ Hedl #, Wgvia F1 UF W # 30 Mo d=F T ¥ B A T fow &
o & a9 & 3ET B9 & oiw Wew W g S 9w

v oE wE
X 2 | IX AL
< 5 =T\
X4.tﬁq-gqﬁﬁ

Question ID

17230533188

00 smifer wER _ ew & v AE R 3
Ans K 1. FEA

X 2 FEATSE

A 3 AmmelE

v FeT geer

Question ID

17230533193

Q.10 s # ‘Tefr I qUEeT gEEE (TALIE) FIEW 3 e oamn am
Ans - X 1. 2016

X 2 2013

v 2014

X 4 2015

Question ID :

7230533200

Q.11 sr§ardrand. (IBBI) 7 I soieer O3 dawed 3w sfRar &
A X

X 2 FiE-ar

X3 &

voaE

Question ID

17230533197

Q.12 TaTeT TEIfEat # fRug e ugEr gdeasye gl
Ans o1 HeeR

Xz.?‘r

v 3 FISSHaT
X 4 =&y

Question ID

17230533195

13 SfofRe & ¥ 79 W 9o 7TT T F ARARERT | HRE 2
Ans .‘f 1.

Question ID

17230533203




ﬁmﬁm@w@nﬁqﬁmmﬂj

gwwm(@wmﬁmmﬂ}
ai;wmm(mmmmw&éam
%Eﬂﬁ(ﬁmmaﬁmtm

Q14 Hardrom. (TOPS) & 317 30feifes aiftaw =& &
A ¥ 3R

X 2

v o gl

X« e

Question ID : 7230533190

Q.15 BF=ffEm & ¥ 57 7T o1 & Tegrs ATET 50T FE 1 NUgE 34
e X0 draRe FEE

o g EE o

X o mfaar e

X 4 FaAET g

Question ID : 7230533189

Q.16 Bl # @ Fi9 2013-2017 F BT sr5cc THET TR o= A6 §2

Ans

K 1. ASTAT gIgeel

v 2 gfeaeee gt el
& 3 e REdr
X4.Waﬁm

Question ID : 7230533186

Q17 wv.amea (NARL) & 37 'Jereier E dEed g
ane X tefafERE
X 2. USSR

Question ID : 7230533201

v 3 CERTER
E A
X 4 UESI A
Q.18 ' 1859 # e # g Yo (T femTeT & R F awE A v G o A o _
TEE HE ) AR A & ot (S wiew) & ety 1 @ 9N o ¥ 5 £ Question ID : 7230533184
e o g

X 2 a9 g
X . Temer g




X« gRa fame

19 - :
Q19 ot omedy & Iy F R oF AT Ao Question ID : 7230533192

M A 3T
X2 7T UH aH
X 3 EF HAT 2 H
X 4 T I 3T
N ww  faega = B we I # 9Rafed & B Question ID : 7230533198

K arfaw A =
v g
X s ofEms (s9=T)
X o gaer-TeEhy (fasfder)

Section : Arithmetic Ability

Q.1 v= = ¥ ¥ A Hir B & Rewiint & 3= 3w 110 &1 A # Fremfil & wew B & femfict )
# wmw ¥ 20% yfew i oF i #, B & R st a A 5 R & st Question ID : 7230533212
STeE # 20% At §1 @ty wET & W RemfiEt o dee T 84§ F A F feemfiat &

shae wew w1 87

Ans X178
X272
v 77
X475

Q2 AMBH MU A 4 FTR{ INFF A A7 : 37 3Ia &1 T B H ¥w A F =7
Famm @, A FR B awa & A Question ID : 7230533213

Ans 1.3 =
v?235:16
K3 2:1
X433:16

Q.3 e =maat & S arfmr 3, 4 s 5 Fer E anw ofr ol & o § B oaew dt anir e )
FATE FHW 213, 317, WU 4 1T F) AT A F el B o 3w ade # 3w R e B Question ID : 7230533214
= YT ST O # & 180 TR ot dew =md 72 T o e s B w v oy AR

a\ﬂﬁmsﬁ?mw.ﬂqﬂr—rt

Ans of 1.2 :7
X23:7
K32:5
X41:3
04 gt x=37"6+642° 412435 ¥ Gt x F =S W Fw T Question ID : 7230533204

Ans




0
X24
7

X4 9

Q.5

Ans

5% i a7 & T 64000 &1 vw TR W vw ffaE wmf F fv awgf ane € 021 & s e
iETis 7Ofem §) 39 79 9 3R a1 F 5 e & B welE s e g, o s
b= F@iSa g @

X 1. T 4890
v 2 T 4880
X 3 T 4820
X 4 T 4860

Question ID : 7230533216

Q.6

Ans

A 0 UF 3F w0 @ w9 wuw £, Srww = 1892, 2105 AT 2531 F T £, A wedw W A UH
TAT SUTE 9T 2 2| ¢ ¥ dwww w o b

X 1 46
X223
X 3 50
v 25

Question ID : 7230533207

Q.7

Ans

ABA2A%FFEIFHEC, DX 0% 5w IXD, AT B T A FmRRm E s = T
w7

X1.25B=18C
v218B=25C
X327B=40C
X+40B=27C

Question ID : 7230533208

Q.8

= Y ¥ A T HEW sb, I b > a ¥ A §HR H@ & a0 & O B wer ¥ & www
52 o= @ &1 = & T FEA F 3FT A WEI aG U ST WS H S I F qA H
AU FERAT ST § A Her 124 9ea @ 81 (14a - 3b) #AW &

Question ID : 7230533205

Ans X1~ 3
v25
<311
X426
Q.9 v ZFEET ow FEg A ¢ A AU ¥ A5 & P T OT o 1 gE 8 & e TR W O

Ans

T G W wE & FOAEY W p% W @ g aeg W oweE ([ #) b

v 1002x

(100 — d) (100 + p)
2 1002x

(100 + d) (100 +p)
¥ 100x

(100 — d) (100 + p)
. 100x

* (100 + d) (100 +p)

Question ID : 7230533211




Q.10 & mf =¥t & T F 10% F 37 32 o7 o, I W I BEET T 7= F 10% B F=_

& e &1 i v Sl weg & e A s e E

Question ID : 7230533209

Ans 35
X1.9=9%, FAT
11
2
Pl 3
X2 18=%, =&
1
X 3 95%, q%
2
o 4 18=%, AT
11
Q.11 A siiv B fer 7w 3 Fwen 30 i 3w 45 fewr & 9@ =7 o §1 10 B9 v mw w9 S F

Ans

YT, B wer A M 6 A wwr C A freet O w oot s 10 Rt A o e fmm 6w oW
C ¥Fe TFaw od # U = e 87

X 180
X 2 60
X3 72
v 4 90

Question ID : 7230533219

Q.12

Ans

9
1. et
v 317

1
2. g
<228 3

11
3. s
X o

2
4. 28°

Question ID : 7230533206

Q.13

I TN A TF A H A UNT A w9 T ) @i S w36 S g o & afige o

# At Trow T 3 Tuw o0 A E g 32 9 R AL A O ¥ waee W 4 s ol Relve A
F #efe

<120

Question ID : 7230533217

Ans
v 24
X3 15
<418
Q.14 it =af3s 7 20 7 7 2000 3 =% v 3w 10% & @y gl 77 7 2000 F T TRpE A 5

Ans

3T 20% F AN T @7

v 1 15
X216
X318
X412

Question ID : 7230533210

Q.15




W 3y TR S ERW A AW B H 2 36 & v 2 ¢ 3 ¥ amaw F Tl B o= A F l Question ID : 7230533215
TwETE T Rea &, S8 s At Jaifae & o B & wyner surs e §1 B § 9ifeE e e

15% 3T A 3 B ® 2= 2T 331% HUw &1 o I F 9 e A ¥ 1350 FHR R AT A S
B ¥ Wy & 7% g F s L

Ans o 1. ¥ 15000
X 2 ¥ 12000
X 3 ¥ 12800
X 4 ¥ 15600

Q.16 3 ¥ 5=t arer e WEe fuT F# AUt O B FUE 99 UF 3IF 499 § 7Y & & A4 £ )
TGS I & Few S st o S e 43 39 ot 11 B E o S e oW Er Question ID : 7230533220

TEET SRS (WA A) FET

Ans of 1. 5472 W
X2 4896 n
X35712n
X 4 5036 7

Q.17 == wew v &R &1 12 G ¥ o Fwa §, T WA 7 A Ew g Faww w e g e | )
16 T & W 71w 81 o ww F FRewe 50% w@ & A A fem & sew and wt Question ID : 7230533218
& =w, O S F 90% M §IE § FET SO

e X9 g 30 Ree
X2 g gz 35 fA=e
X3 8 gz 30 fA=e
v g g 36 fae

Q.18 T Prgerew #em #r 5@t 949 #1, 1095 #r a=r 1022 1 #1022 #r a4r | IAF WHE T
i () ﬁw@%b L Question ID : 7230533221

Ans o 1. 876
X 2 730
X 3 432
X 4 584

Comprehension:




ferratataT ams 3T IRl & ofew gor goat & 3ca7 AT

FIAT H FAATLAT HT TEAT
T00 i
E 200 = 8 525
B 500 450
F 4o 320
E 200
108 I I
o
& B c D E F
FOAT
AT | W gur Aiger sA=iEr #
TEIT H GO
9 : Afgen
A 7 9
B 18 : 11
(® 8 : 7
D 14 @ 13
E 25 : 41
F 13 = 12

SubQuestion No : 19

0‘31 F9r B, D, EdRF&H I FE=TLET Fel Question ID : 7230533224

& FOAT A, C 3R E 7 aAfgen sH=nfat $r o
T § fhae wfoera e 32
Ans X 1.48.2
X 2 466
V'3 454
X 4438

Comprehension:




e s it aoh = gofew gur veat & 3ea7 ST

FUAT H FHIIT i g
700 (i
- i) i .
E 500 450
q-? e 520
T osm
200
1040
o
LY B C B E F
HIAT
FIAT T FAT Afger wH=nar #
TEAT H AT
qoN  : Algen
A 7 9
B 18 : 11
C g = 7
D 14 : 13
E 25 . 41
F 13 = 12
SubQuestion No : 20
CFErATF A For HeHT W FHANET H Question ID :7230533223
Fo WEA FAT Afger FHANE T F wE=w A
FT HAT &7
Ans «1_ -[1
X290
X313
X 410

Section : General English

Q.1

Question ID : 7230533234




Given below is an incorrect sentence. From the given options. select the part
that has an error.

An analysis involving 6. 00.000 people found that one table spoon of

butter will be associated with_four percent decrease in diabetes risk
without increasing the risk of a stroke.

Ans 1. 6, 00,000 people found

v 2 will be associated
/< 3. four percent decrease

/< 4. without increasing the risk

Q.2 Fill in the blank in the sentence given below with the comect option.

HMS Bounty was one of the tecognizable ships m the world. It wasa classic tall shup. Its three masts rose
than 100 feet.

Ans 3 1. More ; most
« 2. Most ; more
/< 3. Long : high
/< 4. Much ; most

Question ID : 7230533231

Q3 Detect the mis-spelt word from the given options.
Ans X 1. adept

/< 2. adapt

/< 3. adopt

4 adege

Question ID : 7230533227

Q.4 Fill in the blank in the sentence given below with the correct option.

Lack of stipulated Lours of sleep

Ans  of 1. Affects ; are
/& 2. Affecting ; do
/< 3. have affected ; will
/< 4. Affected ; have

a lot of people, but sleeping pills not the only answer.

Question ID : 7230533232

Q.5  Sclect the indirect form of narration of the given santence.

Prema told her teacher, “1 want to thank you for being so helpfill. [ have brought this purse which [ have made in my
Arts and Crafis class for you, I'will be very happy if you accept this,”

Ans XT

Prema said to her teacher that she wants to thank her for being so helpful. She has brought this purse which she has
made in the Ans and Crafts ¢lass Tor hersell. She further said that she will be very happy if she accepted this zifl.

K 2

Prema told her teacher, T want to thank you for being so helpful. [ have brought this purse which I'have made in my Arts
and Crafis class for you. 1 will be very happy if vou accept this.

v &)

Prema told ber teacher that she wanted to thank her (the teacher) for being so helpful. She (Prema) further said that she
had brought that purse which she (Prema) hed mads in ber Arts and Crofts class for her teacher. She would be very
happy if the teacher accepted that purse.

K 4

Prema told her reacher that she wanted to thank her for beme so helpful. She had brought tais purse which she has made.
inher Arts and Crafis class for her. She will be very happy if she accepted this purse.

Question ID : 7230533237

Q.6 Given below is an incorrect sentence. From the given options, select the part that has an eror,

The Regional Research L. Trvandmm has helped women engaged in plaiting coconut leaves kearn the process
of extent of life of cocomt leave thatch,

Question ID : 7230533235




Ans  of 1. extent of life of coconut leave thatch.
#< 2. The Regional Research Laboratory,

/< 3. has helped women engaged

< 4. plaiting coconut leaves

Q.7 From the given options choose the one that would mean the SAME as flawless.
Ans X 1. brave

o 2 faultless

/< 3. daring

#< 4 obstacle

Question ID : 7230533225

Q.8 Fmmithe given options, select the one that represents fhe appropriate meaning of the underlined IDIOM inthe sentence
given betow.

Isa't it strange that though we lve in the same city. T get to see my sister once in a biue moon?

Ans o 1. all the time
/< 2. once in fifteen days

& 3. frequently
« 4 occasionally

Question ID : 7230533228

Q.9 From the given options choose the one that means the OPPOSITE of enduring.

Ans  of 1. short-lived
/< 2. famous

/< 3. long-lasting

X 4 survive

Question ID : 7230533226

Q.10 Fill in the blank in the sentence given below with the correct option.

Do not consulting the doctor any more, This low grade fever has continued for abeut a fortnight.

Ans 1. Put back
o 2 Put off
75 3. Put on

/< 4 Put through

Question ID : 7230533230

Q.11 Fillin the blank in the sentence given below with the correct option.
The CEO of a Malaysian company recently  after his smartphone
Ans 5 1. dies ; explode
/< 2. die ; exploding
/X 3 is dying : explode
o 4 died ; exploded

Question ID : 7230533233

Q.12 Choose te best option to combine the given sentences inio & single sentence.

Cmion is knows to lower blood pressure. Onion is known to reduce incidents of heart artacks. It alse helps lower bload
sugar by triggering increased insulin production.

Ans ?{’1

Question ID : 7230533238




©Onion is helpful i controlling diseases like blond pressure, blood sugar and heart atacks by increasing insulin
production.

W2

Omnion is known not oaly to lower blood pressure and reduce incidents of heart attacks but it also helps to lower blood
Sugar by triggering increased insulin production.

X 3

Onion is known to lower blood pressure and onioa is known to reduce incidents of heart atacks and it also helps to
lower blood sugar by triggering increased insulin production.

X 4

Onion is known to lower blood pressure. blood sugar and reduce heart aftacks.

Q13 Choose the passage that is correctly punctuated. Question ID : 7230533239

Ans XL

The Englizh are the only nation on the planet that is passionate sbout queuing be it in the supermarkest at the post office
or at bus stops. They won't tolerate quene —jumping. So even if theres only one perton waiting at a bus stop you better
stand behind them and let them board first.

< 2

The English are the only nation on the planet that is passionate about queuing. Be it in the Supermarket. at the post
office. or at bus stops. They won't tolerate queue —jumping. So even if theres only one person waiting at a bus stop—
vou better stand behind them, and let them board first.

W

The Engiish are the only nation on the planet that is passicnate about queuing, be it in the supermarket, at the post office
o at bus stops, They won't telemte queue —jumiplng. So even If theres only one person waiting at a bus stop, you betier
stand behind them and let them board first.

X 4

The English are the only nation on the planet that is passionate sbout queuing be it the supermarket at the post office or
at bus stops, They won't tolerate gueue —jumping. $o even if theres only cne person waiting at a bus stop vou better
stand behind them and let them board first.

Q.14 From the given cptions, select the word that can substitute the underlined words in the sentence given below.
Question ID : 7230533229

An ulcer in the stomach was long known to be caused by both plysical and mental conditions.

Ans

/< 1. psychopathic
« 2 psychosomatic
/< 3. psychedelic
/< 4 psychiatric

.15 T : =
Q.15 Select the PASSIVE VOICE form of the given sentence. Question ID : 7230533236

‘When the chief guest arriveshe by the Principal.
Ans X 1. need to be received
#< 2. can be received
v 3 will be received
# 4 must be received

Comprehension:




Read the passage and answer the questions that follow.

The Ramayana is much shorter than the Mahabharata despite later
additions. The scene is set in the middle Ganges Plain and the Vindhyan
forests. The original version is attributed to the poet Valmiki, who
probably brought together oral fragments and crafted them into poetry
that was to become a hallmark of early Sanskrit literature. It is frequently
described as the first literary composition, the adi-kavya, a description
not used for the other epic, Mahabharata.

The original version of the Ramayana is generally dated to the mid-first
millennium B.C. The conflict between Rama and Ravana probably
reflects a detailed version of local conflicts, occurring between the
expanding kingdoms of the Gangetic Plain and the tribes of the Vindhyan
region. The kingdom of Kosala represents the newly emerging
monarchies and is a contrast to the society of the rakshasas. or the forest
tribes who were demonized because their pattern of life was so different
from that of the monarchies. The transference of events to a more
southerly location may have been the work of a later period, reflecting an
expanded geography, as was possibly also the case in the depiction of
Lanka itself as a city of immense wealth.

SubQuestion No : 16

1 :
Qe Choose the correct option to complete the statement. Question ID : 7230533241

The Ramayana is the Mahabharata.
Ans ¢ 1. of the same length

o 2. Shorter than
/< 3 longer than

X 4 dated later

Comprehension:




Read the passage and answer the questions that follow.

The Ramayana is much shorter than the Mahabharata despite later
additions. The scene is set in the middle Ganges Plain and the Vindhyan
forests. The original version is attributed to the poet Valmiki, who
probably brought together oral fragments and crafted them into poetry
that was to become a hallmark of early Sanskrit literature. It is frequently
described as the first literary composition, the adi-kavya, a description
not used for the other epic, Mahabharata.

The original version of the Ramayana is generally dated to the mid-first
millennium B.C. The conflict between Rama and Ravana probably
reflects a detailed version of local conflicts, occurring between the
expanding kingdoms of the Gangetic Plain and the tribes of the Vindhyan
region. The kingdom of Kosala represents the newly emerging
monarchies and is a contrast to the society of the rakshasas. or the forest
tribes who were demonized because their pattern of life was so different
from that of the monarchies. The transference of events to a more
southerly location may have been the work of a later period, reflecting an
expanded geography, as was possibly also the case in the depiction of
Lanka itself as a city of immense wealth.

SubQuestion No : 17

Q1 : :
5 The Ramayana represents the enmity between Question ID : 7230533242

the kingdoms of the and the
south of the Vindhyas.
Ans X 1. Indus valley ; kingdoms
X 2. Yamuna plains ; rakshasas
< 3. Narmada valley ; kingdoms

o 4 Ganges valley ; forest tribes

Comprehension:




Read the passage and answer the questions that follow.

The Ramayana is much shorter than the Mahabharata despite later
additions. The scene is set in the middle Ganges Plain and the Vindhyan
forests. The original version is attributed to the poet Valmiki, who
probably brought together oral fragments and crafted them into poetry
that was to become a hallmark of early Sanskrit literature. It is frequently
described as the first literary composition. the adi-kavya, a description
not used for the other epic, Mahabharata.

The original version of the Ramayana is generally dated to the mid-first
millennium B.C. The conflict between Rama and Ravana probably
reflects a detailed version of local conflicts, occurring between the
expanding kingdoms of the Gangetic Plain and the tribes of the Vindhyan
region. The kingdom of Kosala represents the newly emerging
monarchies and is a contrast to the society of the rakshasas, or the forest
tribes who were demonized because their pattern of life was so different
from that of the monarchies. The transference of events to a more
southerly location may have been the work of a later period, reflecting an
expanded geography. as was possibly also the case in the depiction of
Lanka itself as a city of immense wealth.

SubQuestion No : 18

Q.1 : : !
g 1he forest tribes are described as rakshasas because Question ID : 7230533244

of their
Ans & 1.

Language which was not understood by their enemies
o 2. totally different way of life
/< 3. Their strange eating habits

& 4 Lack of manners and education

Comprehension:




Read the passage and answer the questions that follow.

The Ramayana is much shorter than the Mahabharata despite later
additions. The scene is set in the middle Ganges Plain and the Vindhyan
forests. The original version is attributed to the poet Valmiki, who
probably brought together oral fragments and crafted them into poetry
that was to become a hallmark of early Sanskrit literature. It is frequently
described as the first literary composition. the adi-kavya, a description
not used for the other epic, Mahabharata.

The original version of the Ramayana is generally dated to the mid-first
millennium B.C. The conflict between Rama and Ravana probably
reflects a detailed version of local conflicts, occurring between the
expanding kingdoms of the Gangetic Plain and the tribes of the Vindhyan
region. The kingdom of Kosala represents the newly emerging
monarchies and is a contrast to the society of the rakshasas, or the forest
tribes who were demonized because their pattern of life was so different
from that of the monarchies. The transference of events to a more
southerly location may have been the work of a later period, reflecting an
expanded geography. as was possibly also the case in the depiction of
Lanka itself as a city of immense wealth.

SubQuestion No : 19

(R - g 5
o valmiki, based the epic on sources which were Question ID : 7230533243

available from of that period.
Ans 3 1. coins

W 2. word-of-mouth

75 3. written records

/< 4 travelogues

Comprehension:




Read the passage and answer the questions that follow.

The Ramayana is much shorter than the Mahabharata despite later
additions. The scene is set in the middle Ganges Plain and the Vindhyan
forests. The original version is attributed to the poet Valmiki, who
probably brought together oral fragments and crafted them into poetry
that was to become a hallmark of early Sanskrit literature. It is frequently
described as the first literary composition. the adi-kavya, a description
not used for the other epic, Mahabharata.

The original version of the Ramayana is generally dated to the mid-first
millennium B.C. The conflict between Rama and Ravana probably
reflects a detailed version of local conflicts, occurring between the
expanding kingdoms of the Gangetic Plain and the tribes of the Vindhyan
region. The kingdom of Kosala represents the newly emerging
monarchies and is a contrast to the society of the rakshasas, or the forest
tribes who were demonized because their pattern of life was so different
from that of the monarchies. The transference of events to a more
southerly location may have been the work of a later period, reflecting an
expanded geography. as was possibly also the case in the depiction of
Lanka itself as a city of immense wealth.

SubQuestion No : 20

Q.2 i . i ) o
o What, according to the text, was not originally written Question D : 7230533245

by Valmiki, and was added later?
Ans 3 1. The duties of an ideal king.
;2
The conflict between advancing monarchies and
tribal societies.

/< 3. The admirable qualities of the forest tribes.
o 4 The fabulous wealth of the king of Lanka.

I - . .
W1 S gt & 7 I o @ TEEY F R e Question ID : 7230533256

K sTesmeeT
X2 e
v o st
X wdfem

O SfafRT & T T e FE- T F &7 Question ID : 7230533247

As S FFTH
XosgTdaT
Kageger




X+TgH

3 e ofeg T TH oTEE BT Question ID : 7230533259
Ans x-l_ m

&K 2 = mer

X ge

o o =T
a4 TIET 2Teg T FTORT ¥ g T Question ID : 7230533249
Ans ><'1. EIFQIT

v 2 g

X s gret

X 4 ardg
s HAT F JOIEET oS & Question ID : 7230533254
Ans ?<-l ;ﬁ?gii

X 2. gellgel

X 3 Oree

v o
e EE?F-I'-TFIT STed dcHH %"7 Question ID : 7230533255
Ans "f 1T

X 2 g

< 3 gl

X sita
Q.7

Ans

Y afeT TF ¥ AT &) 36 3WT & fow deiEa
K1 TEdr FOATH IME

X 2 Frem s 9 s

X 3 T T HET TR AT

v 4 =T Fr gy H e

Question ID : 7230533261

Q.8

Ans

HSF ar 98 & ¥ 4T ¢ 990 7 Grar-fewor o &
XA ar

vz
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Section : General English

Q.1 Fill in the blank in the sentence given below with the correct option. .
Question ID : 7230533028

A:Tam very hungry. Give me to eat before lunch time.
B: Have banana then. There are quite on the dining table.

Ans X 1. snacks ; some ; many

X 2 anything ; a few ; much




s something ; a ; a few
X 4 any ; the ; many

Q.2 Choose the best option fo combine the given sentences into a sinzle senfence.

The Mahabharata has a Jain version. In this version, the battle is betwean Krishna of Dweraka and JTarasandha, the
emperor of Magadha The batfle is not between the Pandavas and the Kauravas.

Ans “1.

In the Jain tradition of the Mahabharara. the battle is not between the Pandavas and the Kauravas but between Krishna
of Dwaraka. and J fha, the emperor of Magadl

X 2
The Jain version of the Mahabharata highlight the battle of Krishna with Jarasandha.

X 3

The Pandavas supported Krishna of Dwaraka against Jarssandha, the emperor of Magadha and the Kauravas supporied
Jarasandha in the Jain version of the Mahabharata.

K 4

In the Jain version of the Mahabharata, the Pandavas support Krishna of Dwaraka whereas the Kauravas support
Jarasandha, the emperor of Magadh

Question ID : 7230533035

Q.3 Fill in the blank in the sentence given below with the correct option.

I to be rude either to you or to Amit.

Ans 1. have been wanting

' 2. do not want
/< 3. was not want

< 4 am not wanting

Question ID : 7230533029

Q.4 Fill in the blank in the sentence given below with the correct option.
Shivani ~~ nosooner  the book than her friend ~ her.
Ans 1. has ; open ; call
X 2 has ; found ; call
#< 3. having : opening ; calling
o 2 had ; opened ; called

Question ID : 7230533030

Q.5 Fillinthe blank in the sentence given below with the correct aption.

Ineedto what preventive measures are available to us at this stage of the disease.

Ans X 1. look up to

& 2 look down
& 3. look forward to
o 2 look up

Question ID : 7230533027

Q.6 Given below is an incorrect sentence. From the given options. select the part that has an error.

Have you ever noticed how tired my looks sometime?
/< 1. Have you
& 2. how tired
v 2 looks sometime
& 4. ever noticed

Ans

Question ID : 7230533031

Q.7 (




Ans

From the given eptions, select the word that can substitute the underlined words in the sentence given below.

We really don't understand the pain of those who have to walk miles every day to zet safe drinking water.

#< 1. edible

< 2 reliable
o 3. potable
& 4 dribble

Question ID : 7230533026

Q.8

Ans

Select the indirect form of narration of the given sentence.

Do you know that samosas, kebabs and pulaos came to India from the Middle East™" asked my friend Yasmin, “But the
usz of Indian spices changed the onginal taste.™

.

. kebabs and pul Il have come to India from the Midde East. my friend Yasmin informed me. But the use
of Indian spices changed the taste of these items.

v &)

My friend Yasmin asked me if T knew that samosas, kebabs and pulsos came to India from the Middle East. She further
added that the use of Indian spices changed the original taste,

X 3

Indian spices changed the taste of samosas, kebabs and pulaos although all these food came from the Middle East.

F

My friend Yasmin told me that samosas, kebabs and pulaos came to India from the Middle East But the use of Indian
spices changed the original wste.

Question ID : 7230533034

Q.9

Ans

Detect the mis-spelt word from the given options.
o 1. begining
X 2 bereaved

< 3. bestow
< 4 bemused

Question ID : 7230533024

Q.10

Ans

Choose the passage that is correctly punctuated.
F

There are many stories about Krishna's childhood, his mother yashoda and the gopikas.

X 2

Indians prefer retelling the storizs of krishna’s childhood and youth with his mother yashoda and the gopikas.

X 3

Indians prefer retelling the story of Krishna. his mother yashoda and the gopikas.

v 2

Indians prefer retelling stories of Krishna's childhoed and youth with his mother Yashoda and the Gopikas.

Question ID : 7230533036

Q.11

Ans

Given below is an incorrect sentence. From the given options, select the part that has an emor.

Babies given solid food along with milk from three months of age slkeep best than those who are solely fed on milk.
finds a research study,

/< 1. from three months

& 2 solely fed on milk,

/< 3. Babies given solid food
o 2. sleep best than those

Question ID : 7230533032

Q.12

Ans

Select the PASSIVE VOICE form of the given semence.

In India, some people consider keeping the Mahabharata in the houwse i pizions because it deals with bloodshed mnd
the break-up of a family.

F

Some people in India consider the Mahabharata inawspicions becausz it deals with blocdshed and the break-up of a
family.

v &)

Question ID : 7230533033




In India, the Mahabt is idered inauspicious (by some people) because it deals with blocdshed and the breakup
of a family.

X 3

In India people do not want fo keep the Mahabharata in their house because it deals with bloodshed and the break-up of
a family.

< 4

As the Mahabharata deals with bloodshed and the breakup of a family, Indians consider the epic inauspicious.

Q.13 From the given options choose the one that would mean the SAME as
amiable.

X 1. aggressive
# 2. hostile

« 3. good-natured
< 4 unfriendly

Ans

Question ID : 7230533022

Q.14 ;\mmt::k%n'ennpunm, select the one that represents the appropriate meaning of the undertined IDIOM in the sentence
en below.

I feel li when my friends discuss latest fashions and gourmet food

Ans 5 1. use an opportunity to best advantage

o 2. to feel uncomfortable
& 3. wild with excitement

/< 4 prepare false accounts

Question ID : 7230533025

Q.15 From the given options choose the one that means the OPPOSITE of
terminate.

Ans 1. distressing
# 2. discontinue
& 3. wonderful
v 4 introduce

Question ID : 7230533023

Comprehension:




Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine year old daughter Sumati. saw this while
crossing this track in search of bamboo shoots, edible leaves, bark, root,
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time, and with no track
inspection staff in sight, decided to carry on the vigil. Later, they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster. the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed to escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glorv. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently. all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 16

Q.1 _ -
¢ Choose the correct option to complete the sentence. Question ID : 7230533039

Heavy rains had washed away a portion of the
railway track between and stations at

in Tripura.
Ans X 1. Kumarghat ; Ambassa ; Agartala
& 2. Udaipur ; Sabrum ; Agartala
/< 3. Dharmanagar ; Agartala : Dhancherra
o 4 Mungiakami ; Ambassa ; Dhancherra

Comprehension:




Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine year old daughter Sumati. saw this while
crossing this track in search of bamboo shoots, edible leaves, bark, root,
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time, and with no track
inspection staff in sight, decided to carry on the vigil. Later, they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster, the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed to escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glorv. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently. all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 17

Q.1 -
5 Choose the correct option. Question D : 7230533041

Why could Swapan not encash his cheques?
Ans 1. There are no banks in Dhancherra village.

# 2. He doesn’t know about Aadhar card rules.
W 3
He is very poor and earns little money. He doesn’t
have a bank account.
r
Swapan doesn’t believe in keeping money in banks.

He kept all his money at home.

Comprehension:




Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine year old daughter Sumati. saw this while
crossing this track in search of bamboo shoots, edible leaves, bark, root.
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time, and with no track
inspection staff in sight, decided to carry on the vigil. Later, they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster, the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed to escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glory. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently. all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 18

Q.1 y : -
o Complete the statement by choosing the correct option. Question ID : 7230533038

The text is about
Ans ?l.’\ 1.
The state government of Tripura recognizing the
extraordinary achievement of an ordinary man.
A poor and illiterate father and daughter who
- saved the lives of 2000 railway passengers.
3.
The recognition, awards and gifts that follow an act
of selflessness and bravery.
X 4
A brave railway linesman doing his duty against
all odds.

Comprehension:




Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine year old daughter Sumati. saw this while
crossing this frack in search of bamboo shoots, edible leaves, bark, root,
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time, and with no track
inspection staff in sight, decided to carry on the vigil. Later, they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster, the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed to escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glory. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently. all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 19

Q.1 i
5 Choose the correct option to complete the statement. Question ID : 7230533042

Swapan supports his family by collecting forest
produce and selling them. Yet on June 25, he stayed

beside the railway track for a very long time without going
about his daily routine. This proves that he
Ans X 1
Doesn’t bother about his family responsibilities.
Is acutely concerned about others and
~ determined to prevent a tragedy.

< s
Wanted to get and save some money for his family.

> a
Extremely idle and doesn’t miss an opportunity

to relax.

Comprehension:




Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine year old daughter Sumati. saw this while
crossing this track in search of bamboo shoots, edible leaves, bark, root,
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time. and with no track
inspection staff in sight. decided to carry on the vigil. Later. they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster, the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed o escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glorv. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently, all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 20

°62 Choose the INCORRECT option. Question ID : 7230533040

The qualities of the father and the daughter that
stand out are:
a. concern for others

b. sharp observation
c. greed for money
d. unselfishness
e. courage
f. patience
g. bad-temper
h. laziness
Ans X 1. b.c, g
X 2abf
W3cgh
Xaefg




Section : General Hindi

@ ‘BEQTI?T e # FeH g § Question ID : 7230533054
A1 R

A 2 TeRsTT

K 3 T

X 4 g
Q.2 ;EEH. fg-q-u a; ﬁ-u- ﬂgmr %: Question ID : 7230533057
X0 sitE W st g

v 2 3TEr &7 arT g

X 3 AW I =T

Ko W F O Siepat
a3 o & o oo o= oleT Question ID : 7230533062
Ans o 1. AT

< 2 THR

W' 3 HJeT

X 4 efemr
Q4 gz MrAY AT T a1 @ ¥ TET F FafEewer 92 ¥ Question ID : 7230533056
Ans X 1. a%‘

X2 mTEre

Vs ey oY

<4 Al WY
Q5 it ot gaR w7 far ST W S A & e o g g Question D : 7230533053
e X AmAfEE

v 2 T

X 3 e

X 4 AifEs
a6 ‘Tl efeg 1 TfET T g Question ID : 7230533046
Ans

X1 wg
v




<3 I
X 4 T

Q.7

Ans

T i T o= &
v 1. FaTérer

X 2 gaea

X wi

X+ wfFafy

Question ID : 7230533048

Ans

BT oo & yogg U B
X1
o 2 Far
Xsoor
K4 AT

Question ID : 7230533060

Q.9

Ans

'O’ 9Teg T GATIETET U FeT 2
<1 &y
X2 gdg

K3 FJT
\'r 4. QTE;EH¥

Question ID : 7230533052

Q.10

Ans

92 @7 §=7 W@ g1 T W FA ¢
<. HIAET TEH

X 2 quT IA

< 3 Ao #Hd

v 4 30T FAA

Question ID : 7230533047

Q.11

Ans

FIF-T T H Hvsg FOT 27
Xi.Fs@gT
Kegad
v:g9H
K4 TUTE

Question ID : 7230533044

Q.12

Ans

A F AT & ool I B T A MY T
v i AT H
< 2 fFEar

Question ID : 7230533061




K3 HI &
Ko FEar g

O orafafae F ¥ Rower o= o

Ans

X1 ATETET
X 2 g
K3 M

v 4 T

Question ID : 7230533055

Q.14

Ans

freafafee & & aouw u=g 3T

Azt

?<-l =T
X 2. FA
o3 3

X s

Question ID : 7230533051

Q.15

Ans

Fa-T T 7 & = T8 R
K1LATST
X2 &3
W3iH3T
oS

Question ID : 7230533043

Q.16

Ans

‘AT e H 39 T
KA
K2 3T
X3 3

v oHT

Question ID : 7230533059

Q.17

Ans

HET TI=T ITeI 2reg HIA-AT &2
& 1. sTEEaE

X 2. 3gear

5 FErRTe

X 4 FRoH

Question ID : 7230533045

Q.18

Ans

g # ¥ 959 =g oIeT;
X1 o
X2 Tg
X 3 gr

Question ID : 7230533050




v i\ Fraer

Q.19 - sy e ST b
gL R A - e & Question ID : 7230533058

Ans XK. ofrT T=T STSr T
X 2 Zrer 997 7 &9 §99 §7 947
X 3. T & Y T T AT

v g a8 A 9a-ad

@20 dcqey HATH FiT-T e H 2 Question ID : 7230533049

Ane o 1. T
X 2 giafes
< 3 aArar-far
X 4 e

Section : Subject Related

U o Fadr B FEET F oEE o Question ID : 7230533064

Ans Kl m
v 2 B9 HedT T
X 3 Rayare g
X 4 ZFEEeeT T

2 ¢
2 AT o IUSATE HAT F AL 7 Question ID 7230533073

e X1 orET T S
v 2 3T #r s
A5 I IR-HTA AT
X 4 T & gET

 odae FEHAT & qJﬂﬂT & Question ID : 7230533076

e K1 wEeRE
X 2 IETETE e
X 5 Teig e
v md fiE

Q.4 [



Ans

Teed AET AEE By 9% o Peer |

Question ID : 7230533066

X . TS TAEARS T
& 2 THARS T

X 3 =T waTHeT oy
(4.&_@%&?

Q.5

Ans

ey, gar e HAifow s #ia & 872

Question ID : 7230533079

1. faear g
K 2 9T FAAT
X s HET TEH

v o HIRT g

Q.6

Ans

‘HTTE FEaT 9T & TUEH o

Question ID : 7230533068

X 1. RAeg FNREE
v 2 gEdEmrmeT Stedr
A 3 garTARTEeT A
< 4. STelpsUT g

Q.7

Ans

we BFRTH FF F IreaTs A8 O

Question ID : 7230533063

v REvae @
X 2. g Moo I
XB.HE{@E'W

X 4 g TR

Q.8

Ans

oes & #ia &1 W gATo F6 82

Question ID : 7230533081

Xmm-ml'ﬁﬁw

v 2 HTSIT T - FEUAFT §F

X 3 AT e - TEHANIG0T ST
K o flgT Fr 2 - ST s

Q.9

Ans

s & &7 @1 = gafew =8 87

Question ID : 7230533074

K 1. IR F qaAT - UREN HAT




X 2 g aIfeEa - FHOET
X 3 ORT HTHT - TE TET
& FEH TAIT - Howf HUSRY

Q.10

Ans

ATAFATET BEdr =aT 872
1. HalTgE oflel

X 2. ofec] et

v 3 T T

X 4 wgmor g

Question ID : 7230533065

Q.11

Ans

‘SegHAT FET & ATF Hief A?
X 1. EE g

v 2 fEReifrerer T

A 3. rTETeT METHEY

X 4 =T geg arsaR

Question ID : 7230533075

Q.12

Ans

‘ST fTdYr JTHE 9T FiF HeRrear ar?
v 1. =T AT fiE

X 2 =T PeEwwe BE

X 2 ARG ERTE

X 4 TS THEARS TT

Question ID : 7230533067

Q.13

Ans

e & wla-ar v gafea 78 &2

X 1. STETEET &9 e AT I & - o Ao
X 2 TEr T § - Heel OB

K 2 SHIES ST @ 8 - HGon

v . FTEet & oY - 39T RegiEer

Question ID : 7230533077

O T & O T T AeF AgT TR F A &2

Ans

v . BT

X 2. 3T-3rY

X3 gl & TR
K 4 HYTE & T oA

Question ID : 7230533080




e FTERE YA FT 39OTH el 27 Question ID : 7230533071

Ans o< 1. FTEA
A2 e

Qe ‘greqT ?;W ITFATH FF ThIT §'3-IT aqr? Question ID : 7230533069

X1 1877 &

Q.17 o g
‘ﬁFFIBT-‘J lgog 39drH + oE@F o Question ID : 7230533070

Ans X1 seTHES fRE
o 2 JTTHSUT ST
< 3. STelpsUT Hg
X 4 wrer SifFars =

18 Y . .
U FrEr wHEr F TAER BT 7 Question ID : 7230533082

Ans X et vEIE
Xz.ﬁTﬁGng‘?HﬁﬂTﬂT
Xe».;rm?maﬂ‘r

4 EEIET YHIG

Q.19

g e F EATFR 8- Question ID : 7230533078

X R BT
X 2 SfFErg g
v 3 T Tg
X 4 FTIeE JEIE

O B & Fi T Her 'ﬁﬁﬁ»’l?—[ el 82 Question ID : 7230533072

K e B IRy - TR e




X 2 RrEET - HEESr TOT AT
V5 STUTSTE T MHFT - TG WPl

X+ FFT HR {9 - Fdere AR

Section : Subject Related

' g T A e P FT AH fGar 27
Ans X 1. TIIIOT RIS
v 2 e e
< : g T
X 4 dreprer

Question ID : 7230533092

¥ rfy & W@ fradr we E
e K. gfEer 1T s=ae

X 2 T FeArgdy

X 3 ey RE e

v 4 mEredT FAT

Question ID : 7230533087

3 ot T U I A F owE BT &2
e XK R e

X 2 ey aRer

5. GO =1y 307

X 4 FEhr T

Question ID : 7230533091

¥ ST ¥ gey Y 9= ¥ 9
Ans ><'1_ ?IGHITET

X 2 3=aT gewr

X 3 TTEITH

o 4 HERTSE

Question ID : 7230533097

e % R
Ans o 1. Heell 2138

X 2 Sy

/< 3. hdsde

=2 2

Question ID : 7230533099




X 4 AZ

P . ‘
Q6 3 & Fraet 71 B s FT ReR T Aw ¥ B R Question ID : 7230533084

e X, SIS I
< 2. ITH= g %I}GHH
2 5. STCIFSOT 872
v ¢ FEER FEE gEaar

Q.7 ‘srar Hr T 7 A gt # & v afos e | 7 wuw e B2
™ ¢ g et B Question ID : 7230533083

A X ARd wETE EfaEdr
X 2 Tedgey ST

o THTes e

X 4 gATdSETE gfader

08 2 ZEra & T F EEUES Ry A9 ¥ FES Question ID : 7230533098
Ans X 1 a

< 2 W

X3 Ew

N
O e # FIecT AUAT & 9EF & Question ID : 7230533090
Ans x 7 ﬁg

K 2 Fieraery

v o gEfEeTg oAt

X 4 AT Ja
Q.10 ;

Pl TT TET ﬁﬁﬁ»’lﬂ' EE) %"7 Question ID : 7230533101

T A - FE
X 2 el - 3EA
X 3 FH FaET - FAA A

UM B Frew & TREATET TUF TIY FEa Fal HedT 87 Question ID : 7230533095

Ans X 1. TEITEA




X 2 gERTS T
v 3 Srgees TaEr
X 4 grATer TEr

Q.12

Ans

Ter-fager frmer aeraEfen &7
X 1. g THcara

A2 TEe Ia

v 3 T i e

K4 g AR

Question ID : 7230533086

Q.13

Ans

‘HiadIgal & TUFN Hid 87
X 1. deeerd
X 2 e
3. JeIEIEH
< 4 FerEeTH

Question ID : 7230533102

Q.14

Ans

GA T F AT Bl E2
X sfes

X 2 AT ATeE

<3 raT

v ety e

Question ID : 7230533094

Q.15

Ans

JeaHT=T T Ty T gy ¥ or?

K. gTER EYET
X 2 5 g9erm
v o gitT wve
<4 TG T

Question ID : 7230533096

Q.16

Ans

Y W AT W, @ W W FF 9T FEF g@an T 2

v AT gE
A2 Fafas
< 3 TegaterEr
K 4 Tt

Question ID : 7230533093

Q.17




TH ZAHT {-inH-HUt m ZanT Tﬁl?—l’ %.,, l Question ID : 7230533088

K BT SR
' 2. U Hredr
X = gy i
X 4 prfamr &g

18 ‘3T JTITET QQ?TI' e &y T & == %‘7 Question ID : 7230533085

Ans 5 1. IOOTH
v 2 Irr-gaa
X 3 T
X 4 AEH

Y gaTTE g Fd ‘HERAT Question ID : 7230533089

Ans x1m
X 2 39=aOTH
o 3 HTcHST
&< 4 ST

20
@ SroET T = Flﬁ %" Question ID : 7230533100

A ReTEa
&K 2 TEEa
X 3. HEIET
X 4 Fegad

Section : Subject Related

U TwE e Fw A g ol gE 9 & @t §2 Question ID : 7230533108
AnS o1 e

< 2 gL

v fet

< 4 mfeR=
a2 Fia ® =T E0T Hr F-T?}' %‘? Question ID : 7230533109

A K RS s
v 2 Feg W




X 3. TAAT SR
K 4 T T

Q.3

Ans

T S Fw AR Edr e g7
K EHE
<2 glemw
X 3 THA

v Fs

Question ID : 7230533106

Q.4

Ans

TTECTF F FIEH Hia A7
X Ay =

X 2 gafEeTE A

VAN T

K 4. HferaEr

Question ID : 7230533120

Q.5

Ans

gFge & Fo 7 7 1T T a7 B i
K 1. decer™

v @A

X 3 THATA

X 4 FUCTH

Question ID : 7230533104

Q.6

Ans

S Ffr AT B e a0
K< 1. Helledeg,

X 2. FergeETH

o 3 80T

X+ R

Question ID : 7230533107

Q.7

Ans

Fid W W GATOT FeT 87
& 1. FTEARAT - TS

X 2 TETEEROT - T

X 3 Flaed T - 9T
v 4 FFAT - 3TA

Question ID : 7230533111

Q.8

Ans

FIT TT FiT ‘AT H o HT J87 872
X 1. afae F=aTAT

Question ID : 7230533105




X 2 HIe™
v o HEXe
X 4 AT

Q.9

Ans

et W AT AT T H TG 82
K oo

X 2 Jeord

X3.T‘E§H

v ¢ aafie

Question ID : 7230533115

Q.10

Ans

‘HHAT FEES AGI, W, TAH @R T 3 TAIAT Hiet 872
v e

X 2 Foafa e

< 3 EErr

K4

Question ID : 7230533110

Q.11

Ans

‘Ba & g W o FH e Fer g
X . fErEriere

2 FHACTH

X 3 JoAdRH

K4 e

Question ID : 7230533103

Q.12

Ans

et # ¥ Fla & Feg 7y AV WO T @ W T g2
A FTEY Y

A 2 ZeirerT

X 3. Oreea

v 4 2 FEEE

Question ID : 7230533114

Q.13

Ans

v gEady fig REew
X 2. FETATY 3T
Xs A

X+ #AreRor 70

Question ID : 7230533119
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Ans

X 1. giyader
v 2 ST uTsH
X = Afeeror e

X 4 ARG EREs

Question ID : 7230533113

Q.15

Ans

T T Fa TR g3
v 1 1959 €.
X 2 1951 €.
X 31943 €.
X 4 1955 &,

Question ID : 7230533121

Q.16

Ans

P T FeT AT AGEAr TAT FT AgT 27
v gaT

X 2 gregeig

K 3 AR

X 4 e

Question ID : 7230533117

Q.17

Ans

Fieat W yT 7 e Feg @9 87
X guT TR

K> offw

v o TgER T

A 4 FeFET gaTer HERaAT

Question ID : 7230533122

Q.18

Ans

der ey ST § fEer Fiaar 32
Xgg

v 2. FTIET IS

X 3. T

X 4 FgreEr FAT

Question ID : 7230533116

Q.19

Ans

% o7 e It = =2 3o =l 9T e &2
X gt

X 2 ggg aArrer B

Question ID : 7230533112
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v i TR EeEs

Q.20 T °TE 9T &7 8T TR Sy AT %—9 Question ID : 7230533118
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X 2 ARSI

v 3

< 4 e

Section : Subject Related

O gge ¥ g% OF FeT TIE F AT #iT 22? Question ID : 7230533123
A X FERETY 3T

W2 t{ﬁﬁlﬂ'

A 3 Rera

X 4 Hﬁﬂ;ﬁf—r
02 ol BT ¥ et & Hl=ar FuT g Question ID : 7230533128
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Question ID : 7230533142
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Question ID : 7230533136

Ans XT §
V2 g
X 3 fresmyor




<4 T
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Ans XT W
A 2 37asier
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Q.6 e R s Rer o R g}n‘ %‘7 Question ID : 7230533127
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Y AT R > & Question ID : 7230533130

Ans X 1. HelpA

O aaedr REr FT T ST & aeT T §7 Question ID : 7230533125

Ans «1‘4‘?1_%@_
X 2 of3adT Ber
A s el =<
X 4 AT Bl

09 + . .
IUAT H IUAT F GHTEAT gl 9T AT FAT gR? Question ID : 7230533140

e e
X 2 THAF

X 3 93w
X 4 FIh

Q.10

Faa F A g Question ID : 7230533133

Ans «'*14 W
K2 HA




ARl
X g

N Fie & S ToEYEY IS & TR A€ A Question ID : 7230533126
Ane 1 areEaTer

X 2 FTerEt

X 3 Farar

< 4 FAREET
O B A HIF-TT I0T T &7 Question ID : 7230533129
Ans x1, T

o

K

X4+ g
@13 ‘@FI’ FaT &g 87 AT I g7 Question ID : 7230533139

Ans X1 STOTATE®
X 2 megaTaw

X 3. HTATETEF
V4 gFETES

e F Aaar oTeg HISHIT AT 87 Question ID : 7230533137

Ans XK 1.

1 ey FT oAy &r g & Question ID : 7230533134

o o g

M EI F IR R AT F A e ae 2 Question D : 7230533138

Ans x1_ 3
V23
K35




X 4

Q.17

Ans

R wree-T7 A 1 W& HY #9787
v 1 90T, HEsT
X 2. T, AT
X 3 BT, T
X o 0=, &1

Question ID : 7230533135

Q.18

Ans

T J s AT HeHT TR 87
K TR

X 2 wfaemfaa

W 3 THF

X 4 ITAT

Question ID : 7230533141

Q.19

Ans

=7 oY Fas R Fr g 22
V15

X226
X33
X4

Question ID : 7230533131

Q.20

Ans

Fhr T T JE
X 1. giyofr

X 2 ggar

X gk

v« et

Question ID : 7230533132

Section : Subject Related

Q.1

Ans

‘TR T AR TS AT T F G ASIET BT FE 9T B
X fag 21 ¥ Fv S ger Sl T

v 2 39 FE & e F4F 2T

X 3. Sl ox o2 R = 78 & gFan

>~ a4
I ST H S e Ao 8, 98 96T 78 B9 gl

Question ID : 7230533145

Q.2 wmmord & it @ W o SRS TEEw gEw a B oren & & weg-afe wr A 2

Ans

X1 3fErerr

Question ID : 7230533143




A2 T
< 3. ameft =T
o 4 TETOT

Q.3

‘g=r 91T 95 AT ﬂ%’ﬁi’ T HEr HY F4T &7 Question D : 7230533144

Ans K. ofreT ST

v Tga orfFer g
X 3. AgrAT
X 4 ZT FAAT

Q.4

Ans X 1. 15 3ETET 1947

o= & =y & TS F FT F Awhar 58 Her? Question ID : 7230533146

v 2 14 TdaFsT 1949

& 3. 26 L 1950
X 4 14 FIFaT 1949

Q.5

Ans KIT 350

ﬁmagﬁa:&ﬁﬁar%ﬁ:‘ﬂvwm%ﬁhagﬁ?&mmmr

Question ID : 7230533147

v 2 351
/< 3 353
< 4 352

Comprehension:

A @ aTT TTEETer F UeHt IO T WAl % 3cal 4T

S-S ARV H S SR 3c9ee g3 8, 38-30 Rl
it ¥ T s 3 ged #r 3 o yafen sedr uE B
FHR, AT, foesa, e, afFe 3 vt & 3w G989
Tl FT 3aR AT §1 Hfeed o1 9i¥a sremes gm=n =n
Fehr &, & umafy el F &TH F A & 38R T g
SIEHIC AMET & 9isT @ A9Tel e aEad 8§ a3+
Tl H1 IaT Tl g, HHeaUH e J HIHAR A Foqfey
FT GRITAT A HT TcA &ar 8, AT o 9 gfgast &
ey HRY Reaaaser &1 o dgse R g, 3%
F YA ¥ dF-Idl & e H ad Her § v uger S
7 foesa @ 3% sgHew s 79t #1 3ER B g




Q.6

Ans

SubQuestion No : 6

foresa & sgeeg F=el &1 3R fohat fohar? Question ID : 7230533152
<1 AET
X 2 91

=

v o TgST Wpeara

X 4 W T

Q.7

Ans

Comprehension:

e T 7T T #F eH IO T WRAl & 3cal AT

S-S} HRAEY F A PR 3e9ed g3 8, 393 e
YT & WIE i 3R ged Fir HT o wgfcq sedr g 2
FHR, e, foesa, e, @ M w2t ¥ 39w Jad
e FT 3ER g3 g1 Fifeew & 9fg srdomes 9w v
TehT &, 1. Ul o & STH F Al @ 3aR fhar g,
ZLITIE AT o IRHH W A9 Z{ER assy | 3Has
LA T IaT ol g, HFeaUH AFr & HeAR FHr wefer
FT GHITAT FIA T Tdcd AT 2, 45T 7 o019 "@igansit &
TS H HY Reaaasar &1 o= dpse R g =%
F g @ gt & s @ g9 fer § ek uge S
% foead ¥ 3% agAed dig 79l &1 3@ B R

SubQuestion No : 7

SSUTE WiEATHT % 3ema #7 AR fhee e smpse fRar? Question ID : 7230533151

X 1. AFeeaH ST
K 2. &, IuTafy emer
o 3 s

X 4 TS ATEr

Comprehension:




e & 1T T @ 9eH IO T WeaAl & 3cal Al

S AT A AT AR 39w g3 8, FW-I] U
T F TUE FA 3R T & HT off vgfed sedr 1% g
FIHAR, Aurer, foeaa, e, affer anfe waet & 3= Jaa
TUTeaA! 1 3ER T g1 Fifeed T Ffoa ey g =
T g, & qumafy e | 9 F AeH F 3SR R g
TG, ATEN & IHH # A9 gXaR B 8 s
TFTeHAT T TAT Tl g, HFeadH AT F HIAT FHr T2y
FT GRITOT A T T 7am 8, AT o I~u9 gfgamsi &
T H A Reaaasar &1 o= dgce R g, =%
F YT @ It & emae w9 fBer § ok uge St
3 feaa ¥ 3% wgHpa a7 ot @ ser e
SubQuestion No : 8
O ey & wiEr g7 Question ID : 7230533149
Ans 51 edyaY
X 2 HATET
X 3 gGelld
v o FifeeT

Comprehension:




A & wTT TgTTer F TEE IO T FeAl % ool ST

S-S HRAEY § A SPRT 3c9e g3 8, 3938 e
DT F TIE W AR ged fr AX o ygeT sedr w® T
FIHR, A9, fewa, &, e e wialt & 3@ g@a
TeeaAr FT 32N g3 g1 Fifeew & 9fg rdemes g v
e 2, &Y. ety oTEl & oW F Aeat & 38R R g
TITHIE ATET & 9T @ A9Tel SE aEel @ a3+
LA T 94T TNl ¢, HEeaUH T o HeAR $r aefer
FT YRITAT A HT T &ar &, AT o I~vg Aigast &
e HY Reaaasar &1 o= dgse R g, 3%
& YAl § AUl & AT H e fAer § R g S
% foead ¥ 3% sgaed diw 79t & sER R g

SubQuestion No : 9

Q9 ey & Ty MY FY THERNT T FT YU RO A2 Question ID : 7230533150
Ans . HheeH ATET

X 2 &, ol emel
X 3. gI9dTe omEAr

X 4 9. TgS Wipeara

Comprehension:




e T 7T T #F eH IO T WRAl & 3cal AT

S-S} HRAEY F A PR 3e9ed g3 8, 393 e
A & FE = 3 e @ aiv sf wefey s oE B
FHR, A9, faesa, e, aFa AT vt ¥ 3% Jad
e FT 3ER g3 g1 Fifeew & 9fg srdomes 9w v
TehT &, 1. Ul o & STH F Al @ 3aR fhar g,
ZLITIE AT o IRHH W A9 Z{ER assy | 3Has
LA T IaT ol g, HFeaUH AFr & HeAR FHr wefer
FT GHITAT FIA T Tdcd AT 2, 45T 7 o019 "@igansit &
TS H HY Reaaasar &1 o= dpse R g =%
F YT @ It & emae @ g9 Ber § Ak uge S
# foeed ¥ 3% 9g#ed sig F91 #1 3@r T 8

SubQuestion No : 10

% Te@er S 3T ofifw T gem? Question ID : 7230533153

Ans 2<-1. T ﬂ hfa e
X 2 3ER
X5 sRaEy

W 4 T STEEOT

Q.11 uzss & w7 & Friwar 58 fegeat A7 wagt & R smasaet § e s 87
’ Question ID : 7230533163

X s wefeE
2 SRR Sihetell
K 3 T FeA@T
X 4 gAEREET

Q.12 odm aArcafas fren #faw Agcegdt Revar @ #v anafas @ & fee 9z7 &1 Rew B2

e X1 e e e

Question ID : 7230533155

v gF e dfETe
X 3 g =y TR sifeae
X4 T R e

Q.13 sr=eaeant & # & WeEA § AN A @ H@ed st & = E
Question ID : 7230533154

e X oiR-TFOTeRT MEEEaTY




v o gaEdTTEE HETEaT
K o FE-EGRC FEITHATT
X 4 grafare TaeTeare

Q4 et e R SR R F e ST FrweE ¢
Are K1 grafere wteret

K 2 ATTATCHF i

X s gl F A

v 4 oreT WETar

Question ID : 7230533161

Q.15 =7 Ry FhEEr 7% o £ AR AT A F B T F e (wiwe) g &
o7 TERRE 4 ¥ e 7 oF TEwr sET i

A e
X 2 g7 fRvevoT
X 3. ofy@IS=T Jume
X 4. drar wonferar

Question ID : 7230533156

Q16 Rrzmrew & Rwat F seags 7 3 9 B &7 6T 2
Ans X 1. OIS HEAT, AW FAT, THIUT FHLAT
<2
TS AT, TN FAT, Tfed FHTa
v 3 OIS AT, FET FIAT, HRIAOTT
X 4 918 ST, THEIOT TEAT, oI LT

Question ID : 7230533157

O ot (TR FT TH 3SR B
Ans X1 T el

v 2. OHFeNT Fell
X 3 ETHET =T
X 4 gz Fel

Question ID : 7230533162

Q.18 31 337 & S £ 9T UF I F e F IGar &7 F41 FEAE 2
Ane K. foysaetar

X 2 JHETIAT

X 3. T GHOT

v 4 eI

Question ID : 7230533159

@1 o Rretor ehr WU IUgEA & oW |

Question ID : 7230533160




i 1. garae @fEe g
X2 rE ofag @
X 4 diemifEEhr v T g

.20 :
Q.20 o= sttt R e TToame sfweT (Remem) # <hde & it (5o §2 Question ID : 7230533158

MK e ST HiEmeT (ReTE)
& 2. ATHaEE Hidwew (BeEe)
v o T FHEEwT (BEa)
X o arer Higa AT (Besa)
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Section : Mental Ability

Q-1 . i . ! . . .
Seat is related to vacant in the same way as vessel is related to: Question D : 7230533367

Tdentify from the given options.

Ans X 1. WWorth
/& 2. Extra

v 3. Empty
& 4 Blank

Q2 Choose the venn diagram for the following set:

Question ID : 7230533378

“Festivals. Dasara. Diwali”

Ans

Q.3

Question ID : 7230533374




FrafafEe g & areEs srerms w°t ok A R T g W oaew &
s oty e # Ierfaw & g & v Sl awds sege B e ) st

1) = nimsiRE Rremraas e fea & mgEew 65% 3w
EFcAT BT AR

2) i 3mg 01-01-2018 Fr 26 9 ¥ 737 3K 36 79 F o= wdf Fwlr e

3) & wrF 50% W e ae ¥RT dre sEEd IOy g O

4) Fr I S F A 3 T T IS g e

5) ® v& 9 & T 9itden F 3T B i SO wer TR

g 3wt (3) & A 73 AwEs & OF Fa § @ 3 R daEE &

w7 3 i B = wear

Mg 3wt (3) At (4) & T I W Awest F O = § 34

s imE s et St o= b

o sl Hafla el A, J9led Wl AECE B 7 a9 e F wy g

w4 ¥, & 3% afes defaw ¥ ww & Rt B oo mwar 31 ofy st

wad &9, 12 991 & FeWe & WY I0FF B A H T w1 § A 5H

W i 3w F Mk R we

1118 F Joo7 1 3g 27 T &, 37 WA F &9 F =ow, 3R weee f
3T FA 72% T 76% ¥t F WY 9T | I§ HETUS ST H 4 I F
s ofr a3y =7 Sl ¥ T ot g ol F i o @ ¥ e dmwoam
37 g 92 F v Wfese & 31 o= 87

e Ko wfass Yt
X 2 I
v 3 qfygear A
< 4 afrss dofae

Q.4 The following pie chart shows information abcut the production of chocolates by the company “LMN". The revenue
produced by the sales of all the products is § 12,400, Question ID : 7230533372

ilk chocolate

white chocolate
candies

sugar free
chocolate

swest chocolates

What is the revenue produced by the sale of candizs?

Ans  of 1. $ 5580
X 2§ 2860
<3 §2790
X 4 $1240

Q5 If+ means+, + means —, — means X, X means +, then: Question ID : 7230533380

80+4-15-3%50="7
Ans x-]. 30

~ 2 24

X 3 36

25

0'6 B - " " : . . b
What will be the missing term in the following series’ Question ID : 7230533386

A7, Ei4, . 056, U112
Ans 51 124
< 2. 130




W 3 128
< 4 149

7 @ v Rwedt # ¥ gl & RvE 3 w1 9wa H
Ane KwE T

EA-UIC B )

X o fgga ofeeT : @lc

X 4 grEre ;e (feh) afeuaw

Question ID : 7230533383

Q8 Choose the mirror image for the following figure:

A.

Ans

<[

Question ID : 7230533370

Q.9 what will be 17 term in the following Arithmetic progressive series 3, 7, 11, 15.....
Ans x 1. 63

X271

V'3 67

X 4 59

Question ID : 7230533385

Q.10 How the pattarn wounld appear when the transparent sheet is foldad at the dotted line?

+ .

O

Ans

Question ID : 7230533376




& LEs

Q.11 a9 o= o & 9% R JFT T § T AT I AT T} SR, WO R IR gT oA R iR A
sraTE A & §, 30 Fa w1 Adeos Rwew e

X T AR G
<2
IHHN T & [T T SAEHIGH MA@ H gaT

~ 3.
g & e G e T @ 39§ T wey & w6 &

v 38 FE & T a8 # Fg Freer

Question ID : 7230533375

Q12 Find out the odd pair among the given options.
Ans X 1. 200 : 20100

X 2 501275

v 3150 : 22500

& 4100 : 5050

Question ID : 7230533384

Q13 Choose the odd figure among the series:

ans
X | DEC
X2 | JuL
v | APR
X | AUG

Question ID : 7230533369

Q.14 (




What will be the next figure in the series?

Question ID : 7230533371

Ans

FUS F T T & AT wElcanm BeweT & 997 :
X1 g
v g
PSR
K4 S

& L] 'Y ] L2 3 t-: '?
Ans
a8 &8
« 1. & B
[N ] -
_ - L ]
>~ 2
[ ] L ]
. ¥
x 3. BT
-
x4 e
[ ] ]
.15
Q1S o i UT Hel FufEud g 2l Question ID : 7230533377

Q.16

Ans

Choose the image which represents *2°.

SEINE
r G0 D
% , N
X2 O
3. %

Question ID : 7230533368




=

Q17 5= %t & & ¥ agply Peaff@a & & fw fwer & a9 sola &

x>

Ans

F

%]

g
<[

S

Question ID : 7230533373

Q.‘l 8 Eight years age. P was half of Q in age. If the ratic of their present ages is 2: 3, What will be the total of their present
ages?

Ans XL 35
X216
X3 24
W 4 40

Question ID : 7230533382

Q.19 ;mud:ejlhuill a f:mce around his square plot. He used 22 fence poles on each side of the square. How many poles did
e ogether!

Ans of 1. 84
X 2 88
X3 82
X 4 80

Question ID : 7230533381

Q.20 sandhya is sister of Praveena. How is Praveena's father’s sister’s mother related to Sandhya?

Ans X 1. Aunt
v 2 Grand mother
& 3 Cousin
& 4 Sister

Question ID : 7230533379

Section : General Awareness

Q1 The area drained by a single river system is called:

Ans

# 1. Drainage pattern

Question ID : 7230533398




& 2. Catchment area

+ 3 Drainage basin

A 4 Water divide

Q.2 wdm w aEesr FEw o B T (Fe W R A T F R e f mgRiee e
e B e § s w0 F, o e B F o i Question ID : 7230533389

Ans

K 1. I-FAN T AT

v 2 et & g

X 3w I

X 4 goir a8 F &

Q.3 IndianNational Anthem was adopted in its Hindi version by the Constituent Assembly on:
Question ID : 7230533391

A X 1. 26 January 1951

< 2. 26 November 1949
X 3 15™ August 1947

v 4 24™ January 1950

4 "
¥ I mew Sy ORI £y Question ID : 7230533395
e X e T

X 2 mqaaﬁr Py
X s ET o
v 4 fruer Wi

.5 i -profi isati lated to indian infi i hnol inds 3
Q 15 @ non: pi'O ltorg;amsauonre ated 1o indian ormation tec ogy 'IJSU}’ Quest|on|D7230533406
Ans X' 1. FICCI

X 2 CII

/< 3. ASSOCHAM
o 4 NASSCOM

 earedr ¥ mew F O FiF 7w ET 87 Question ID : 7230533404

Ans JT

T 3T S e T g & F R T S e = e 3
X 2 THH UH T4 Jur 'ﬂﬁ'ﬂT%

7~ 3.

g AT 7T a9 Fr Afeed a=ar ¥

X 4 Tg 3 ¥ TSR HeTH AT §

Q.7 EastIndia C introduced the P t Settl t system in:
as a Company introduced the Permanent Settlement system in Question ID : 7230533387

Ans 1. 1802




X 21765
X 31822
W 2 1793

Q.8 Findou the mmuect answer option that does NOT describe exactly the means of income tax collection by the
Government of India. Question ID : 7230533399

Ans  of 1. Tax Reduced at Source
& 2 Tax Deducted at Source
# 3. Tax Collected at Source
X 4 Self-Assessment Tax

Q.9 As per notification iss!.'le'r‘l by the Election Commission of India in April 2018, how many recognised national palitical )
Paesive Gers Al Question ID : 7230533390

Ans x 1. 10

X 213
s 7
X 418

Q.10 Select the option that is i t with d to burning of fossil fuels.
elect the option is incorrect with regard to burning of fossil fuels Question ID : 7230533401

Ans

« 1 It is a source of renewable energy
#< 2. It causes greenhouse effect of gases

& 3. It causes acid rain

< 4 Tt releases oxides of carbon

Q.11 Article 371A of the Indian Constitution refers to special provisions relating to the State of:

Question ID : 7230533392
Ans o 1. Nagaland

& 2. Andhra Pradesh
X 3. Manipur
& 4 Jammu & Kashmir

. 2 - -
Q12 2w & Qor &, FT W 3 ok IS g A A H Fw o Question ID : 7230533394

e X i erfe
VIR
X3 o3
X 4 FomeH

Q13 The historical edifice “Bara Imambara’ is located in: Question ID : 7230533396

Ans X 1. Aligarh
< 2. Ajmer
/< 3. Agra
v 4 Lucknow

Q.14 Stone tools found during mesolithic period are generally tiny and called as: .
Question ID : 7230533388




Ans

& 1. Biface

& 2. Microblade
v 3 Microliths
& 4 Macrolithics

Q.15

Ans

soil is also known as the ‘Regur Soil’.

& 1. Laterite
&< 2 Arid
v 5 Black
& 4 Desert

Question ID : 7230533397

Q.16

Ans

The National Academy of Agricultural Research Management is located in:

& 1. New Delhi
& 2. Lucknow
« 3. Hyderabad

& 4 Patna

Question ID : 7230533405

Q.17 Which of the following statement is NOT true with regard to Tungsten?

Ans

# 1. It produces much more heat than light
o' 2. Ttis a light metallic element

# 3. It is used in the filaments of electric lamps

5 4
It has the highest melting point among all the metals

Question ID : 7230533402

Q.18

Ans

Bitcoin is a:

< 1. Gold currency

« 2. Cryptocurrency
X 3. Artificial currency
#< 4 Hard currency

Question ID : 7230533403

Q.19

Ans

International Olympic Commitiee (IOC) announced that would be the host city of the Clympic Winter Games
2022,

« 1. Beijing

& 2 London

/< 3. Pyeongchang
< 4 Tokyo

Question ID : 7230533393

Q.20

Ans

FEMA stands for ‘Foreign Exchange Act’.
#< 1. Monopoly

# 2. Maintenance
« 3. Management

Question ID : 7230533400




X 4 Market

Section : Arithmetic Ability

Q.1

Ans

The sum of two ntanbers is 1215 and their HCF is §1, 1f one of the mumbers lies between 250 and 350 and the other lies
between 800 and 900, then what is the difference between the two numbers?

<1162
X 2 243
W 3 567
X 4 324

Question ID : 7230533410

Q.2

Ans

HATUT F FE OF W T E W IR &, FE S aE T o 5 W oo
sitr Mt Tror =R o7 Tum &) s s ET ofRes 2 F v wmne o) ST o i T
= HT AURE w F 3 ad svera wwr uw i o FuRer s # 2 a¥ S # My ur s
E'F_;.‘TIHWZ?:M!JTIH'MWERQI:

v 1. 17.5%
X2 16%
X 3 16.5%
X 4 12%

Question ID : 7230533417

Q.3
Ans

e 1 i P
X 1342
V2 336
X3 3.12
X4 324

Question ID : 7230533423

Q.4

Ans

Asum of T 50000 amounts to ¥ 60200 after I vears at a certain rate percent p.a when the interest is compounded

annually. The same sum will amount to what after 3% years at the same rate of interest? (nearest to a T)

& 1. T 69888
& 2 T 69887
V2 T 69878
< 4 T 69788

Question ID : 7230533416

Q.5

Ans

AT R x = 237X 78%0 4 574% ¥y x ¥ THE W HE ¥
X1
X28
X3 6
g

Question ID : 7230533407

Q.6

Ans

The driver of a car driving at the speed of 88 km'h locates a bus 80 m moving ahead of him in the same direction. After
40 seconds, the bus is 120 m behind. The speed {in ki) of the bus is:

X 1. 66
<2 78
W 3 70
X475

Question ID : 7230533421

Q.7

Four positive integers are given. If the averaze of any twe of them is added to the remaining two imtegers, the mumbers
46, 49, 48, 45, 44 and 47 are obtained What is the average of the given four integers?




Ans  of 1155
X 2145
<314
X415

Question ID : 7230533415

Q.8 (125)3+2.25%(1.25)2 +(375)x(075)% +(0.75)° | .
HEeY ot (128)7—225(125)%43%1.25(0.75)—(0.75)(0.5625) X then VX is equal fo:

Ans 11_ ]
X204
<308
X4 4

Question ID : 7230533409

Q.9 vw =fed vs =g F 20% e W AT {1 ;R IF FH 20% FHOW whEa W ¢ 180 FH W AT
3 25% = AW @ I a7 W aeg A T 97650 3, & A e SRR &

Ans  of 1. 8.5%, WITIT
X 2 8%, &M
X 3 9%, graT
X 4 9.5%, BT

Question ID : 7230533413

Q.10 & meneel v & w90 W, OF A § B 1 3% 7w g0 B F A 7 3%, To I W= £ ¥
ﬁwgﬂa&mﬂ#tmmmnawmAm@ﬁaidtwsﬁtwmm%m
& siar g Twdr @ iy Az 72 A &, o gEd Td A o (R ) w2

Ans o 1. 60
X 2 64
X 3. 54
X 4 56

Question ID : 7230533420

Q.11 The ratio of number of male and female employees ina company was 5 : 4. Some new males and females joined the
company inthe rafio 2 : 3, The total number of employees became 1620 and the ratio of males to females became
68 167, Initially what was the total number of employees in the company”

Ans  of 11080
X 2. 960
< 3 840
X 41200

Question ID : 7230533418

Q.‘l 2 The sumof a two-digit number lying between 10 and €0 and the number obtamned by reversing the digits of that number
is divisible both by 11 and 8. The difference of the digits is 6. If the original number is divided by 11, the remainder is:

Ans \’1-6
K23
K35
K47

Question ID : 7230533408

Q.13 A solid metallic cone of base radins 2.1 cmand height 8.4 em is melted and recast into a sphere. What is the surface

ma‘mcmz}ufmespbﬂ:‘{mei ﬂ%;

Ans  of 1. 5544
< 2. 40.65
X 3 44.55

Question ID : 7230533424




X 4. 36.96

Q.14 A shopkeeper sold his articles at T 368 each after giving $% discount on the marked price. Had he not given any
discount, he would bave eamed a profit of 25% on the cost price. What is the cost price of ¢ach anicle?

Ans - X 1. T 350
<2 300
v T320
< 4 T 284

Question ID : 7230533414

Q.15 Twotaps A and B can fill a tank in X and 80 minutes respectively. To fill the empty tank. both taps are kept opened for
20 minutes and then B is tumed off, If the to1al time to £l the tank is 45 minutes, then what is the value of x 7

Ans - X 1. 56 minutes
& 2. 72 minutes
v 3 60 minutes
& 4 64 minutes

Question ID : 7230533422

Q16 1 (x® + y*): (x® — y*) = 14: 13 then (x*> + y2): (x®> — y?) =
Ans X1, o P

W2 5:4

X3 4:3

X4 7:5

Question ID : 7230533419

Q.‘l 7 When the price of sugar was increased by 32%, a family reduced its consumption in such a way that the expenditure on
sugar wes only 10% more than before. If 10.3 kg wos consumed per month before. then the new consumption of sugnr
per month i

Ans X1 §kg
W2 Oke
X 3 84kg
K 4 92kg

Question ID : 7230533412

Q"] 8 Ifthenumerator of a fraction (m lowest terms) is increased by 150% and the denomirater is increased by 300%, then
the denominator of the resulting fraction is 260% more than its numeratcr, What is the original fraction?

Ans a

Ko —
11

< 2

X 3

v 2

Ol Ul & o ]m

Question ID : 7230533411

Comprehension:




Study the following graph showing the number of females in different
departments of a company and table and answer questions .

Total No of emplovees = 6400

680
440
350
750
520 650 I
B c ¥ E F

Departments

w B R OB B8

No of female employees (out of 6400)
=

B percentage of employees

Department | Percentage of
employees
A 18
B 12
|5 20
D 24
E 11
F 15
SubQuestion No : 19
&1 What is the ratio of total nmumber of male Question ID : 7230533426

employees to the total number of female
employees in B. D and F?
Ans of 1. 63 : 65
X 2 65:63
X 3 65:42
X 4 42:65

Comprehension:




Study the following graph showing the number of females in different

departments of a company and table and answer questions .

Total No of employees = 6400

680
440
350
520 I 650
B C [} E

Departments

w B R OB B8

No of female employees (out of 6400)
=

B percentage of employees

Department | Percentage of
employees

18

12

20

24

11

15

o llesllwhi@fiv=Ri

SubQuestion No : 20
@2 The total number of male employees is
approximately what percent of total number of
employees in the company?
ans of 1. 47%
X 2 52%
< 3 44%
K 4 49%

Question ID : 7230533427

Section : General English

Q.1 Select the most appropriate option to fill in the blank.

She accepted the job the salary, which was rather low.

Ans 1. in case
X 2 asif
o 3. in spite of

Question ID : 7230533432




& 4 because of

Q.2

Ans

Select the most appropriate option to fill in the blank.

Iwillmakeevery o help you.
v . effort
X2 try
A 3 intent
/< 4. step

Question ID : 7230533433

Ans

Select the most appropriate option to fill in the blank.

Do you want me to tell Father,  does he already know?
& 1. and
X 2 s0
W 3 or
& 4 but

Question ID : 7230533431

Q.4

Ans

Select the sentence sfructure that is meaningful and grammatically correct.

F

In the dry regions is common the Dragon tree in Africa.

X 2

The Dragon tree in Africa is common of the dry regions.

v &)

The Dragon tree is common in the dry regions of Africa.

K 4

The dry regions is common in the Dragon free of Africa.

Question ID : 7230533439

Q.5

Ans

In the following sentence four words/phrases have been underlined. One of them is incorrect. Choose the incorract
wordphrase from the given options.

The protesters campaigued for some months powaggingt the sealing of commercial establishments m residential
colonies.

/< 1. sealing of
&< 2. against
X 3. now

o 2 campaigned

Question ID : 7230533442

Q.6

Ans

Select the most appropriate option to fill in the blank.

Hisnew bookwas by the Vice President at Vigyan Bhawan.
1 initiated
v 2. Jaunched
X 3. opened
# 4 inducted

Question ID : 7230533434

Q.7

Question ID : 7230533435




Ans

Select the synonym of the given word.

MEDIOCRE
& 1. medieval
o 2 average
& 3. bitter

< 4 religious

Ans

Select the most appropriate option to fill in the blank.

Kavya scattered her toysall _ the floor of the drawing room.
& 1. under
W 2 over
& 3. along
X 4 through

Question ID : 7230533429

Q.9

Ans

Select the most appropriate option to fill in the blank.

Are you tired? You since morning. You should rest for a while.

X 1. walked
« 2. have been walking

& 3. were walking
< 4 will have been walking

Question ID : 7230533430

Q.10

In the following sentence, four words/phrases have been underlined. Ove of them is incomect. Choose the incorrect
word'phrase from the given options.

Unless the aid arrives tomorrow, these flood victims are starving.

Question ID : 7230533441

Ans  of 1. are starving.
& 2 arrives
& 3. Unless
< 4 these
Q.11 Arrange parts of the sentence in meaningful and grammatically correct order.

A.inalabin 2014

B. to successfully grow human lungs

C. was the first

D. the research team

E. at University of Texas Medical Branch

Question ID : 7230533440

Ans X' 1. ABDEC
' 2 DECBA
X 3. DACBE
X 4 EDCBA
Q.12

Ans

Select the antonym of the given word.

ADVOCATE

Question ID : 7230533437




& 1. remove
W 2. oppose
< 3. support
X 4 define

Q13 Select the antonym of the given word.

DECLINE
Ans x 1. dI(}p

o 2. accept
X 3. forgo
/< 4. regret

Question ID : 7230533438

Q.14 Select the most appropriate option to fill in the blank.

There has been a serious accident  the Yamuna Expressway.
Ans X' 1. into
X 2 at
\’ 3. 0n
&K 4 in

Question ID : 7230533428

Q15 gSelect the synonym of the given word.

INSIPID

Ans X 1. lucid
& 2 talkative
v 3 flat

X 4 exciting

Question ID : 7230533436

Comprehension:




Read the following passage and answer the questions given after it.

To popularise authentic tribal products across the country and increase
its market share, the Tribal Affairs Ministry now plans to bottle mahua,
the traditional tribal drink, and sell it in the open market across the
country.

Pravir Krishna, Managing Director, Tribal Cooperative Marketing
Development Federation of India (TRIFED), said, “We plan to add
various flavours to mahua such as ginger, pomegranate and ajwain
(carom seeds), and sell it in the market like a mildly-alcoholic beverage,
on the lines of the (Bacardi) Breezer.” He said it would be “sourced
mostly from Bastar, and will be sold all over the country under the brand
name Mahua”.

For this, TRIFED has signed a memorandum of understanding (MolU)
with IIT-Delhi.

Called the Van Dhan Vikas Karyakram, ¥ 500-600 crore has been
earmarked under the nation-wide programme for training tribal clusters
to add value to their produce and sell it in a packaged format, aiming to
increase their income manifold.

Besides mahua, other tribal staples such as tamarind and amla will be
de-seeded and brought to the market in the form of candies and jams.

A Ministry official said: “The first model Van Dhan Vikas Kendra under
the project has been set up in Bijapur, at a cost of ¥ 43 lakh, with a
capacity to train 300 people, and provide equipment for primary-level
processing. It will focus on tamarind brick making, mahua flower
storage facility and chironjee cleaning and packaging.”

According to Krishna, the products marketed under the scheme will
include only those that need primary-level processing including
handicrafts, textiles, food items, jams and pulps, and jewellery. “What
Amul did for milk, we want to do for non-timber forest produce through
this scheme. Milk sold as milk wouldn’t have got the people of Anand
anything. But if you turn it into yoghurt, ice-cream, desserts, the income
increases manifold. That’s the model we will replicate,” he said.
Earlier, TRIFED, which was entrusted with setting up of Van Dhan
Vikas Kendras to implement the scheme, tied up with IIT-Delhi to use
mahua flower syrup to create chutney, jam, squash and non-alcoholic
beverages. The resultant Tamarind-Mahua Candy and pickle thus
produced has been identified for bulk supply to Air India. This is the first
time, however, that the ministry is getting into bottling and sale of
alcoholic beverages.

SubQuestion No : 16
06'1 This passage is: Question ID : 7230533444
Ans X 1. an article
X 2 areview
X 3. an advertisement

W 4 anews item

Comprehension:




Read the following passage and answer the questions given after it.

To popularise authentic tribal products across the country and increase
its market share. the Tribal Affairs Ministry now plans to bottle mahua,
the traditional tribal drink, and sell it in the open market across the
country.

Pravir Krishna, Managing Director, Tribal Cooperative Marketing
Development Federation of India (TRIFED), said, “We plan to add
various flavours to mahua such as ginger, pomegranate and ajwain
(carom seeds), and sell it in the market like a mildly-alcoholic beverage,
on the lines of the (Bacardi) Breezer.” He said it would be “sourced
mostly from Bastar, and will be sold all over the country under the brand
name Mahua™.

For this, TRIFED has signed a memorandum of understanding (MoU)
with IIT-Delhi.

Called the Van Dhan Vikas Karyakram, ¥ 500-600 crore has been
earmarked under the nation-wide programme for training tribal clusters
to add value to their produce and sell it in a packaged format, aiming to
increase their income manifold.

Besides mahua, other tribal staples such as tamarind and amla will be
de-seeded and brought to the market in the form of candies and jams.

A Ministry official said: “The first model Van Dhan Vikas Kendra under
the project has been set up in Bijapur, at a cost of ¥ 43 lakh, with a
capacity to train 300 people, and provide equipment for primary-level
processing. It will focus on tamarind brick making, mahua flower
storage facility and chironjee cleaning and packaging.”

According to Krishna, the products marketed under the scheme will
include only those that need primary-level processing including
handicrafts, textiles, food items, jams and pulps, and jewellery. “What
Amul did for milk, we want to do for non-timber forest produce through
this scheme. Milk sold as milk wouldn’t have got the people of Anand
anything. But if you turn it into yoghurt, ice-cream, desserts, the income
increases manifold. That’s the model we will replicate.” he said.
Earlier, TRIFED, which was entrusted with setting up of Van Dhan
Vikas Kendras to implement the scheme, tied up with IIT-Delhi to use
mahua flower syrup to create chutney, jam, squash and non-alcoholic
beverages. The resultant Tamarind-Mahua Candy and pickle thus
produced has been identified for bulk supply to Air India. This is the first
time, however, that the ministry is getting into bottling and sale of
alcoholic beverages.

SubQuestion No : 17

&1 Which of the following statements is NOT true
according to the passage?

Ans X 1

IIT, Delhi has helped the TRIFED use mahua
flower syrup to create chutney, jam. squash and
non-alcoholic beverages earlier.

> 2

Question ID : 7230533447




This is the first time that the ministry is getting
into bottling and selling alcoholic beverages.

v 5
Mahua drink will come in different flavours such
as pomegranate, chocolate and vanilla.

~ 4
The Bijapur centre will focus on making tamarind
bricks. mahua flower storage and chironjee
cleaning and packaging.

Comprehension:




Q.1
8

Read the following passage and answer the questions given after it.

To popularise authentic tribal products across the country and increase
its market share, the Tribal Affairs Ministry now plans to bottle mahua,
the traditional tribal drink, and sell it in the open market across the
country.

Pravir Krishna, Managing Director, Tribal Cooperative Marketing
Development Federation of India (TRIFED), said. “We plan to add
various flavours to mahua such as ginger, pomegranate and ajwain
(carom seeds), and sell it in the market like a mildly-alcoholic beverage,
on the lines of the (Bacardi) Breezer.” He said it would be “sourced
mostly from Bastar, and will be sold all over the country under the brand
name Mahua”.

For this, TRIFED has signed a memorandum of understanding (MoTU)
with IIT-Delhi.

Called the Van Dhan Vikas Karyakram, ¥ 500-600 crore has been
earmarked under the nation-wide programme for training tribal clusters
to add value to their produce and sell it in a packaged format, aiming to
increase their income manifold.

Besides mahua, other tribal staples such as tamarind and amla will be
de-seeded and brought to the market in the form of candies and jams.

A Ministry official said: “The first model Van Dhan Vikas Kendra under
the project has been set up in Bijapur, at a cost of T 43 lakh, with a
capacity to train 300 people, and provide equipment for primary-level
processing. It will focus on tamarind brick making, mahua flower
storage facility and chironjee cleaning and packaging.”

According to Krishna, the products marketed under the scheme will
include only those that need primary-level processing including
handicrafts, textiles, food items, jams and pulps, and jewellery. “What
Amul did for milk, we want to do for non-timber forest produce through
this scheme. Milk sold as milk wouldn’t have got the people of Anand
anything. But if you turn it into yoghurt, ice-cream, desserts, the income
increases manifold. That’s the model we will replicate,” he said.
Earlier, TRIFED, which was entrusted with setting up of Van Dhan
Vikas Kendras to implement the scheme. tied up with IIT-Delhi to use
mahua flower syrup to create chutney, jam, squash and non-alcoholic
beverages. The resultant Tamarind-Mahua Candy and pickle thus
produced has been identified for bulk supply to Air India. This is the first
time, however, that the ministry is getting into bottling and sale of
alcoholic beverages.

SubQuestion No : 18

The TRIFED plans to add value to their products Question ID : 7230533446

by:
A. selling them in packaged format
B. training the tribal clusters

C. changing the form of the raw product

Of these factors which are true?




Ans o 1. A and C are true
A 2 A and B are true
& 3. Band C are true
X 4. A, Band C are true

Comprehension:

Read the following passage and answer the questions given after it.

To popularise authentic tribal products across the country and increase
its market share. the Tribal Affairs Ministry now plans to bottle mahua,
the traditional tribal drink, and sell it in the open market across the
country.

Pravir Krishna, Managing Director, Tribal Cooperative Marketing
Development Federation of India (TRIFED), said, “We plan to add
various flavours to mahua such as ginger, pomegranate and ajwain
(carom seeds), and sell it in the market like a mildly-alcoholic beverage,
on the lines of the (Bacardi) Breezer.” He said it would be “sourced
mostly from Bastar, and will be sold all over the country under the brand
name Mahua™.

For this, TRIFED has signed a memorandum of understanding (MoU)
with IIT-Delhi.

Called the Van Dhan Vikas Karyakram, ¥ 500-600 crore has been
earmarked under the nation-wide programme for training tribal clusters
to add value to their produce and sell it in a packaged format, aiming to
increase their income manifold.

Besides mahua, other tribal staples such as tamarind and amla will be
de-seeded and brought to the market in the form of candies and jams.

A Ministry official said: “The first model Van Dhan Vikas Kendra under
the project has been set up in Bijapur, at a cost of ¥ 43 lakh, with a
capacity to train 300 people, and provide equipment for primary-level
processing. It will focus on tamarind brick making, mahua flower
storage facility and chironjee cleaning and packaging.”

According to Krishna, the products marketed under the scheme will
include only those that need primary-level processing including
handicrafts, textiles, food items, jams and pulps, and jewellery. “What
Amul did for milk, we want to do for non-timber forest produce through
this scheme. Milk sold as milk wouldn’t have got the people of Anand
anything. But if you turn it into yoghurt, ice-cream, desserts, the income
increases manifold. That’s the model we will replicate.” he said.
Earlier, TRIFED, which was entrusted with setting up of Van Dhan
Vikas Kendras to implement the scheme, tied up with IIT-Delhi to use
mahua flower syrup to create chutney, jam, squash and non-alcoholic
beverages. The resultant Tamarind-Mahua Candy and pickle thus
produced has been identified for bulk supply to Air India. This is the first
time, however, that the ministry is getting into bottling and sale of
alcoholic beverages.

SubQuestion No : 19

Q.1
9 Question ID : 7230533445




What is the main ingredient to be sourced from the
jungles according to the passage?

Ans X 1. Chironjee
X 2 Amla
X 3. Tamarind
o 4 Mahua

Comprehension:

Read the following passage and answer the questions given after it.

To popularise authentic tribal products across the country and increase
its market share, the Tribal Affairs Ministry now plans to bottle mahua,
the traditional tribal drink, and sell it in the open market across the
country.

Pravir Krishna, Managing Director, Tribal Cooperative Marketing
Development Federation of India (TRIFED), said. “We plan to add
various flavours to mahua such as ginger, pomegranate and ajwain
(carom seeds), and sell it in the market like a mildly-alcoholic beverage,
on the lines of the (Bacardi) Breezer.” He said it would be “sourced
mostly from Bastar, and will be sold all over the country under the brand
name Mahua”.

For this, TRIFED has signed a memorandum of understanding (MolU)
with IIT-Delhi.

Called the Van Dhan Vikas Karyakram, ¥ 500-600 crore has been
earmarked under the nation-wide programme for training tribal clusters
to add value to their produce and sell it in a packaged format, aiming to
increase their income manifold.

Besides mahua, other tribal staples such as tamarind and amla will be
de-seeded and brought to the market in the form of candies and jams.

A Ministry official said: “The first model Van Dhan Vikas Kendra under
the project has been set up in Bijapur, at a cost of ¥ 43 lakh, with a
capacity to train 300 people, and provide equipment for primary-level
processing. It will focus on tamarind brick making, mahua flower
storage facility and chironjee cleaning and packaging.”

According to Krishna, the products marketed under the scheme will
include only those that need primary-level processing including
handicrafis, textiles, food items, jams and pulps, and jewellery. “What
Amul did for milk, we want to do for non-timber forest produce through
this scheme. Milk sold as milk wouldn’t have got the people of Anand
anything. But if you turn it into yoghurt, ice-cream, desserts, the income
increases manifold. That’s the model we will replicate,” he said.
Earlier, TRIFED, which was entrusted with setting up of Van Dhan
Vikas Kendras to implement the scheme, tied up with IIT-Delhi to use
mahua flower syrup to create chutney, jam, squash and non-alcoholic
beverages. The resultant Tamarind-Mahua Candy and pickle thus
produced has been identified for bulk supply to Air India. This is the first
time, however, that the ministry is getting into bottling and sale of
alcoholic beverages.




SubQuestion No : 20

Q.2 .- : j o
o Who will be the main consumer of the tamarind Question D : 7230533448

mahua candy and pickle?
Ans X 1. Amul
X 2. Tribal Affairs Ministry
v 3. Air India
X4 IT

Section : General Hindi
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Q.12 Continuous education process, involvement of students and teacher is the characteristic of which type of education
system?

Ans X 1. Non-formal education
& 2. Adult education
< 3. Distance education

« 4 Formal education
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Q.14 1n PCK- Pedagogy, Content and Knowledge; Knowledge refers to:
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Q17 Wisdom can be defined as a combination of: l Question ID : 7230533563

Ans X 1. Knowledge and skill
+ 2 Knowledge and experience
# 3. Knowledge and expertise
# 4 Knowledge and attitude

Q.18 Choose the right answer,

Question ID : 7230533566

Before reading activity is important in which of these subject as it preempts the student with predictions and
vocabulary?

Ans  of 1. Science
# 2. Languages
& 3. Mathematics
& 4 Social studies

Q19 Choose the appropriate option to complete the sentence. Question ID : 7230533567

sk

iz what feelings sound like”.
Ans 1. Painting

& 2 Dance

v 5 Music

& 4 Picture
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